Mock Test for NEET-2024_Hints & Solutions

Corp. Office :Aakash Tower, 8, Pusa Road, New Delhi-110005, Ph.011-47623456

MOCK TEST for NEET-2024

ANSWERS
1. (@) 41. (1) 81. (4) 121. (4) 161. (3)
2. (1) 42. (4) 82. (4) 122. (2) 162. (3)
3. (2 43. (1) 83. (3) 123. (3) 163. (3)
4. (3 44. (1) 84. (3) 124. (3) 164. (2)
5. (4) 45. (4) 85. (1) 125. (2) 165. (3)
6. (2) 46. (4) 86. (4) 126. (1) 166. (3)
7. (3 47. (1) 87. (2) 127. (2) 167. (2)
8. (2 48. (3) 88. (2) 128. (4) 168. (4)
9. (2) 49. (1) 89. (2) 129. (1) 169. (3)
10. (3) 50. (3) 20. (2) 130. (4) 170. (4)
1. (1) 51. (3) 91. (2) 131. (3) 171. (1)
12. (1) 52. (4) 92. (3) 132. (3) 172. (3)
13. (3) 53. (3) 93. (4) 133. (2) 173. (4)
14. (4) 54. (2) 9. (2) 134. (3) 174. (4)
15. (1) 55. (1) 95. (3) 135. (1) 175. (4)
16. (1) 56. (1) 9. (3) 136. (3) 176. (2)
17. (3) 57. (2) 97. (4) 137. (2) 177. (2)
18. (2) 58. (4) 98. (1) 138. (2) 178. (1)
19. (4) 59. (3) 99. (3) 139. (4) 179. (2)
20. (2) 60. (4) 100. (2) 140. (4) 180. (2)
21. (1) 61. (4) 101. (1) 141. (2) 181. (2)
22. (3) 62. (4) 102. (2) 142. (3) 182. (2)
23. (3) 63. (2) 103. (2) 143. (3) 183. (1)
24. (2) 64. (2) 104. (2) 144. (2) 184. (3)
25. (4) 65. (3) 105. (1) 145. (2) 185. (3)
26. (3) 66. (4) 106. (1) 146. (3) 186. (2)
27. (4) 67. (2) 107. (2) 147. (3) 187. (4)
28. (2) 68. (2) 108. (4) 148. (2) 188. (4)
29. (4) 69. (4) 109. (3) 149. (2) 189. (2)
30. (2) 70. (4) 110. (3) 150. (3) 190. (1)
31. (1) 71. (4) 111. (3) 151. (2) 191. (3)
32. (4) 72. (1) 112. (2) 152. (4) 192. (3)
33. (1) 73. (3) 113. (1) 153. (2) 193. (3)
34. (1) 74. (4) 114. (4) 154. (2) 194. (2)
35. (2) 75. (2) 115. (3) 155. (2) 195. (1)
36. (1) 76. (2) 116. (2) 156. (2) 196. (1)
37. (4) 77. (2) 117. (3) 157. (2) 197. (3)
38. (2) 78. (3) 118. (2) 158. (2) 198. (2)
39. (2) 79. (2) 119. (2) 159. (2) 199. (3)
40. (1) 80. (2) 120. (1) 160. (3) 200. (2)

Corporate Office : Aakash Tower, 8, Pusa Road, New Delhi-110005. Phone : 011-47623456



Mock Test for NEET-2024_Hints & Solutions

MOCK TEST for NEET-2024
HINTS & SOLUTIONS
[PHYSICS]
SECTION-A Ts-A

Answer (2) FH (2)
I1-I(i)r_\:gand Sol.: Fsn: Fe: Fun: Fe=1:102:10"3: TRT AT Fon: Fe: Fun: Fa=1:10-2: 10-13
Answer (1) 11079

3L (1)

Hint: In multiplication or division, the final result
should retain only that many significant figures as
are there in the original number with the least
number of significant figures.

Sol.: Volume =11 mx 236 mx3.1m

~ 8.0476 m?

=8.0md

Answer (2)

—u%sin20 =0 = 1sin‘1 (1j
2 4

Answer (3)
Hint: F = ma
Sol.:

F=ma
a=_20
5+3+2
=2 m/s?
Ni=(3+2)a
=10 N
N2=2x a
=4 N
N; 10
Ny, 4
2

Ny

Tk TUTT AT VT H, Sfr afor o sherer 3 &t |eleh
T H A B
BAAFATI=11mx236mx3.1m

~ 8.0476 m3

=8.0m?3
I (2)

¥ R_uzsin29
g

T R =R

ﬁ_u%sinZE)

g g

oo 1. 11

—=u“sin20=90=—sin" | —

4 2 4

I (3)
Hehd: F=ma
G

F=ma
20

a=

5+3+2
= 2 m/s?
Ni1=(3+2)a
=10N
N2=2x g
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5.

Answer (4) 5.

Hint: Coefficient of restitution = Velocity of separation
Velocity of approach

Sol.:

V2=8m/3 6

Answer (2)

) ~ Myl + Mol + Ma-

Hint: r,,, = 11 22 33
m1+m2+m3

Sol.:

X - mx0+mx2R +mx4R
om m-+m+m

Xem = 2R 7.
Answer (3)

Hint & Sol.: Mass of lower half of sphere is more
therefore, centre of mass shift towards lower half.

Answer (2) g
Hint: (K.E.)max =T.E. - P.E.
Sol.: (K.E.)max =24 - 4

=20J
_ (KE)ax
Average (K.E.) = s
_20
2
=10J
Answer (2) 9.

Hint & Sol.: When a satellite is lifted from lower
orbit to a higher orbit then its gravitational
potential energy increases and kinetic energy of
satellite decreases.

S (4)

TR YT TUTich = JPT BT T

TUNTH 7T 21T

B

¥ F _ i+ mory + Mgl
L oom m1+m2 +m3

B

mx0+mx2R + mx4R
m+m+m

Xem =

Xom = 2R

I (3)

Tehd qAT TeT: A & ot o9 e 1 g
Tk BT & SETeTT ST ohg forerer 3178l feed oY 31t
forenfua & ST R

3 (2)

Tehd: (K.E.)max = T.E. - P.E.

B (K.E.)max =24 -4

=20J

3fed (K.E.) = %

20

2

=10J

W (2)

Tehd qAT FA: STef fohell SurE oAl Frerell wrefm & 3=
AT H o ST ST 2, a Sesh! Tecdta fufost it g
STt B S st Het o St R
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10. Answer (3)

11.

12.

13.

2
mm:W=1Y@¥JA€
2\ 7

W2=8x38

=64J

Answer (1)

Hint: Force on container = pav?
Sol.: v=.2gh

Mass of liquid in the container
mo = pAh

F =pa2gh

mo a1 = pa 2gh

pAha, =2p agh

2a
= (Tg]

Answer (1)

Hint & Sol.: The coefficient of cubical expansion
of water is negative between the temperature
273 Kand 277 K.

Answer (3)
P
Hint: [—j =—y=
dVv adiabatic v
sm;[gfj __P
av isothermal v
(o)
dV'Jadiabatic =y
(o)
dVv isothermal
coms 1-(3)
For monoatomic gas y = 3

11.

12.

13.

Mock Test for NEET-2024_Hints & Solutions

w, 8
Wo=8x8

=64 J

I (1)
Hehd: U WA = pav?
BA. v =,/2gh
IER:E-CRo k-]
mo = pAh

F =pa2gh

mo a1 = pa 2gh
pAha, =2p agh

2a
(%)

S (1)
Tehd AT TOT: STct T STRG FAR Uik A19 273 K
3R 277 K o s oM 81T 2
S (3)

~_|(dP ___P

AV eV

£

AV Jzrs _
H

AV )<
Wﬁa%myz(gj
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14.

15.

16.

17.

18.

Answer (4)
Hint & Sol.: In isothermal process temperature
remains constant therefore AU = 0

Q=W+AU
Q=w
Answer (1)
Hint : Forward resistance of diode in linear region
Iy = av
Al
Sol. : From V-I/ characteristics
ry = 09-0.7 - 200 —200
(15-5)x10 10
Answer (1)

Hint: Equation of propagating wave moving in
positive x-direction of y = A sin (kx — ).
Sol.: A=0.25
o = 2xnf
=8n

_2n

K

y = 0.25Asin(nx — 8mt)
Answer (3)

Hint and Sol.: The speed of sound in air is
independent of pressure of the gas. It only
depends on temperature of gas.

Answer (2)

Hint: E = ﬁ
2

Sol.:

Epr=E. +E.
_ k(50uC) k(50 uC)
(Zcm)2 (6 cm)2

_9x10%x50x107°  9x10%x50x10°°
4x107 36x107
= 10° N/C

14.

15.

16.

17.

18.

I (4)
TR AUT FoT: THATIRT STeh & 19 f-rod T&dT & 61T
AU=0
Q=W+AU
Q=W
ST (1)
Hohd : W & § Srie  suleRmn ufalw
rfb:ﬂ

Al
A : V- SANTATEIOTR &

0.9-0.7 200

Ie =W=W=20Q
(1)

Tehd: GATcH x-fom & e gerfed ol st aieror
y = Asin (kx — o)
a81: A=0.25
o = 2xnf
=8n

K=2"

y = 0.25Asin(nx — 8nt)

I (3)

e O X T R 6 I 7 7
T At 21 7 Feret T o 71 R A 2

I (2)

ek E=k—g
P

BA:

Ep=E +E.:
B k(SOMC) k(50 MC)

(Zcm)2 ) (6 cm)2

_9x109x50x107°  9x10%x50x10°°
4x107* 36x107
= 10° N/C

Corporate Office : Aakash Tower, 8, Pusa Road, New Delhi-110005. Phone : 011-47623456



19. Answer (4)
Hint: V=Vi+ V2 + V3
Sol.:

V= [Ej x 6
a
6kq
T a
20. Answer (2)
Hint: P = I°PR
Sol.:

P=PR

= (@) x4

=36 W
21. Answer (1)

Hint: E oc ¢

f2=30cm
22. Answer (3)

Hint: M = NIA
Hol
Sol.: B=—"-
2R
0.2 = Ho!
2R
04_i
mo R
= nR2=nx
R=1
M= 0.4x
Mo

19.

20.

21.

22.
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I (4)
Hha: V=Vi+ Vot Va....... Ve
BA:

P=PR

=32 x4

=36 W

I (1)

ﬁﬁn_cl':Eocf
E_n
"E; 1

3_45

2 Uy

/2 =30 cm

I (3)

FHeha: M = NIA

_Hof

: B
A oR

0.2kl
2R
04 _ i
Ho

Py
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23. Answer (3)

24.

25.

Hint: $=8-A and 8=_@
at

Sol.: ¢= anr2 cos ot

el
dt

= ?TC: (anrz cos oot)

2 sinot

e =B,onr
Answer (2)
Hint: X, T
oC

Sol.: V=100 sin (314t)
o =314
Ve=IR
_80

20

I=4A

V2 + Vg2 =100

(80)° +VZ =(100)?

/

V2 =(100Y* —(80)?
Vc =60
Vc = IXC

1

60=4x—
oC

C= 4
60x314

=212 uF
Answer (4)
Hint: For minimum deviationi=e, r1 =nr

Sol.: By Snell’s law
sini
snr -
n=r=r
n+r=A
r=—

2

= 45°

23.

24.

25.

I (3)

Hehd: =B A ?FﬁTs:—%

B O = anr2 cos ot

_ab
dt

e =

= ?T(tj (anr2 cos oot)

€= Bzomr2 sinot
I (2)
LETHP' 1
oC

gA: V=100 sin (314t)
o =314
Vr=IR
_80

20
I=4A

JVR? + V2 =100

(80)% +V& = (100)?

/

V& =(100)* (80

Vc=60
Vc = /Xc
60 = 4x—

oC
oo 4

60x 314

=212 uF
IW (4)
Tohd: A faae [T i=e, = r
TN A o A H

sini

sinr

n=r=r
n+r=A
r==

2
=45°
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26.

27.

28.

sini 3
sin45° 2
3

sinj = —
2

i=60°
i+e=A+3d

60° + 60° =90° + §
8 =30°

Answer (3)

Hint: Use

<|[=
[ PN
~h|

Sol.:

<|=
S =
~h|

1.1 1
80+f 20+f f

(20 + £+ 80 + f)f = (80 + f) (20 + )

100f + 2% =1600+100f + >
2 = 1600

f=40cm

Answer (4)

Hint: Fringe width = %

n1k1D _ n27\.2D

Sol.:
d d

_ M
2 o
_ 50x4000
5000
=40
Answer (2)
Hint & Sol.: p = tan(ip)

26.

27.

28.

sini _ ﬁ
sin45° 2
V3

sini = —
2

i=60°
i+e=A+3d

60° + 60° = 90° + 5
5=130°

I (3)

<|=
Cl=
|

1 1 1
+

80+f 20+f f
(20 + f+ 80 + ff = (80 + f) (20 + f)

100f +2f% =1600+100f +f2
2=1600

f=40cm

I (4)

mzﬁ,—ﬁﬁg@:§

n1k1D _ n27\,2D

W.d 4

o = MM
A2

_ 50x4000
~ 5000
=40

I (2)

Tehd AT F: 1 = tan(ip)

Corporate Office : Aakash Tower, 8, Pusa Road, New Delhi-110005. Phone : 011-47623456



Mock Test for NEET-2024_Hints & Solutions

20.

30.

31.

Answer (4)
Hint: £ = he

hc
Sol.: A= £
12400
14.4x10°
~ 0.86 A belongs to x-ray region.

Answer (2)

Hint: Momentum of photon =§

Sol.: mv = ﬁ
A
h
vV =
AxXm
6.6x1074

480010710 x9.1x 107"
~ 1500 m/s

Answer (1)

Hint: N = Noe ™

Sol.: No = Nie ™ .. (i)

29. I (4)

30.

31.

FHehd: E:%

he
B A= T
12400
" 14.4x103
~ 0.86 A x-fortor &1 @ Eeifera R

I (2)

Fehel: BISH ohT GATT =

>

h
BA: mv =—
A

_h
Axm

_ 6.6x10734
4800x107 10 x9.1x1073"

~ 1500 m/s

I (1)

Hohd: N = Noe ™M

B No = Nie ™™ .. (i)

4

% = Nie™2M (i)

(i) = (i)
4 =M
At=1In4

3]
N=Ne ‘?

—Zln 4

N=N1e 2
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32.

33.

34.

35.

36.

Answer (4)

3
Hint: T o n_2

V4

Sol.: T, =37,
£ _3(3)°
2
Z=9

Answer (1)

Hint and Sol.:

~<
~<

=N

=Y,

=A+B = NOR gate

Answer (1)
2

Hint: a, :% anda=,/a’ +a;

Sol. : From path equation x2 + y2 = 16, car is
moving on a circular track, centred at origin and
of radius 4 m.

Hence a, = g = % =4 m/s?
a: = 0 (as v is constant)
a=ac=4m/s?

Answer (2)

v
Hint: /= —
in =

=25A

SECTION-B
Answer (1)
Hint & Sol.:

On balancing the mass number and atomic
number, we get

m=7and n2=6

32.

33.

34.

35.

36.

Mock Test for NEET-2024_Hints & Solutions

=Y

=A+B = NORE

S (1)

T+ T AHIHT X2 + 2 = 16 H, FICHA foreg T s
TAT 4 m Fra It St gor o faHe &

2 42
I acz%:%:4m/s2

ar=0 (I v )
a=ac=4m/s?
I (2)

. v
Hehd: /= —
R

10
tl=—
& 2+2

=25A
Ts-B

I (1)

Hohd qUT TA:

TR HEAT 3T GRHTY] FhHieh 1 Hqferd i W, T
TH BIelT €
m=73Rn=6
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37. Answer (4)

38.

39.

Hint: Use — +

luf=2v|
1.1 1

vl —lul f

_vl_Ivi
lul f

|v|:£:200m
2

|ul = 2|v]| =40 cm

|u] +|v| =40+ 20 =60 cm

Answer (2)

Hint: P =

Sol.: P«

A_R_

PZ_R1

v2
R
1
R
3
1
Answer (2)

Hint: $=BA
Sol.: ¢ = pHA

¢

h A

_ 5x107°
5ooox%x1o*1

=2x10*

38.

39.

lul =2 1v|
1 1 1
_+ —
vl —lul f

lvI_Ivl

1121

lul f

|v|:£:20 cm

2
|ul =2|v| =40 cm
|u] +|v] =40+ 20 =60 cm
I (2)
. v?
Hohe: P=—

R

1
t Poc—
BT, OCR

A_R_3

P, R 1
IW (2)

Hehd: ¢ = B-A
Tl ¢ = pHA

¢

h A

_ 5x107°
5ooox%x1041

=2x 104
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40. Answer (1)

41.

42.

43.

Hnn:s=(vxéyf

Sol.:

¢ = Bv/(cos30°

a BVf\/g
2

Answer (1)

Hint: For parallel combination
Cef=C1+ C2+..... Cn
For series combination
1 1 . 1 1

= — ..
Cet C1 G G
Sol.:

_ 6x3
AB~6+3
=4 uF
Answer (4)
Hint & Sol.: Charge will execute oscillatory
motion but not S.H.M because electrostatic force
acting on the charge is not proportional to

displacement of charge particle from its mean
position.

+2

Answer (1)
Hint: Friction force = centripetal force

I’I’IV2

Sol.: l.,lmg = ?

41.

42.

43.

Mock Test for NEET-2024_Hints & Solutions

¢ = Bv/(cos30°

_ Bng

2
3T (1)

Tehd: THIAL GISH o foTg
Cei=C1+Co+ .....C,

ot G o forg

1 1 1 1
Ceff C1 CZ Cn
FIGH

6x3
= 2

AB=643 "
=4 uF
I (4)

Tehd AUT ET: STRT QI T T k] Tt 3T
7Tt & BT FRATToF HATERT T HRIT Eerelgd set Jre
fearfr & STarRT 0T 3% ForeeTo o TR e B
2
I (1)
TR BT T = AR I

2

mv
T umg = ——
Hmg R
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44.

45.

46.

2
R=V
ug
(10
- 0.5x10
=20m

Answer (1)

Hint: Weight of the stone reduced due to upthrust

force.

Sol.: p = density of the material of stone =

.. V= Volume of the stone

m 10

P 2x10°

loss in weight = Vog
=5x103%%x103x9.8
=49 N

Net weight to be lifted = 10 x 9.8 — 49
=49 N

W=49x10

=490J

Answer (4)

Hint: t = Fr.

Sol.: ® =4 + 3t

do
o=—
at

= 3 rad/s?

~5x103md

t=1xq

2
Fxr=TR",
2

_mR
2

_ 4x0.1x3
2

=0.6N
Answer (4)

F

Hint and Sol.: S :ﬂ

dA

<I3

44.

45.

46.

R=Y_
ng

__(10y°
0.5x10

=20m

I (1)

TR IcCATI STeT o ShITUT Y Sh | 5 ST &

B p = TeUT o UeTe T ¥ = %1

oo V=TSt A™dT

_m_ 1°3=5x10'3m3
P 2x10
IR FH = Vog

=5x103x 103 x 9.8
=49 N
ISTT ST ATATHE IR = 10 x 9.8 — 49

= 49 N
W=49 x 10
=490 J
I (4)
Hehd: T = Fri
gA: 0 =4+ 3t
do
o=—
dt
= 3 rad/s?
t=1xq
2
Fszﬂa
2
F-mR,
2
_ 4x0.1x3
2
=0.6N
I (4)
. du
Hehd AATEA: S=—
dA
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47. Answer (1) 47. 3dT(1)
Hint: dQ T1 T2 HHa: dQ 7-1 T
Sol.: — Q T1 T2 9 7—1 T
o (2R) 4 (2R)
R is thermal resistance of one rod R@@EWW’JW%
Q_T-T, '
t, 1R2 Q_nh-T
5 ==
) 2" [
2
th 1
<L =—_—=t,=4s
tho4’ bl -4s
ty 4

48. Answer (3) 48. I (3)

Hint: v = oya? — X2 | _
Sol: V=g —x2 THA: v = ona? - X2
7 v =avla? - X0

a
x==
2 =2
V_«/gaoo 2
2 V:\/§aoa
_2n 2
V_«/§an T
T V:«/gan
=

49. Answer (1)
Hint: Distance between consecutive node and | 49. ST (1)

antinode is % Tehel: SHATTA e 37T JEE o it oht &) A H
54
Ly = 5sm( 3 jCOS 40nt g Y= 5SII’1( 3 jcos 40nt
@:E 2n T«
A 3 73
}\‘: 6 7\4=6
L6 6
4 4 4 4
=15m =1.5m
50. Answer (3) 50. 3 (3)
Hint: Relative acceleration of both the bodies will . . :
e Tohd: QAT [oRTAIT ST HATUTaTeh ToR0T ST BT
SV, t+ 15 xt2 S = Vg th gy x £
Sol.: S=Vre/ t+§a,e, x t el _Vre/ +§are/ x
8 =0 ﬂrel =0
S=vxt S=vxt
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51.

52.

53.

54.

[CHEMISTRY]
SECTION-A £
Answer (3) 51. IW(3)
Hint: Empirical formula is simple whole number Tehd: AT T Tk AT H SURd qeall st T
ratio of elements present in a compound. qufg@q?a%qm%ﬁ%%l
Sol.: - )
El t | Mass% Atomic No. of Molar s q
emen ass’o Mass Moles Ratio — KA N et e
. % HIT EﬁH@T aﬁw
c 92.3 12u 77 e [
7.7 C 92.3 12 u 7.7 — =1
7.7
H 7.7 1u 7.7 T _y r
7.7 H & Tu AT
The Empirical formula of the compound is CH iR T EATATdT € CH 2
Answer (4) 52. 3T (4)
Hint: Mass of HNOs required = 400 x 3 x 10~ x Tohel: STETIH HNOs 3T 599 = 400 x 3 x 10-2 x
63 =756¢g 63=756¢g

Sol.: 70 g of HNOs3 is present in 100 g of
concentrated nitric acid solution

75.6 g of HNOs is present in %x75.6 =108 g

Answer (3)
Hint: AT; =iKim
Sol.:

Na,SO, = 2Na" + SO03-
Initially 1 0 0
Finally (1—0.9) 0.9%x2 0.9

=0.1 =18 =09
i(van't Hoff factor) = 0.1 +1.8+ 0.9

i =28
AT; =iKim
AT, = 2.8x1.86x 121000
142200

AT, =2.6K
Freezing point of solution = -2.6° C
Answer (2)

Hint: Bromide of CaBrz (strong electrolyte) will act
as common ion and will decreases the solubility
of AgBr.

Sol.: CaBr: is strong electrolyte
CaBr, —— Ca®" + 2Br~
0.1 2x0.1=0.2

53.

54.

BeA: 100 g OT5 T13feeh 3% fae== o 70 g HNOs
T ST &

75.6 g, HNO3 ITIT ST & = %x75.6:108 g#
SW(3)
deha: AT; =iKim
FIGH
Na,SO, = 2Na* + SO3~
URT H 1 0 0
3T H  (1-09)  0.9x2 0.9
=0.1 =1.8 =0.9
i(aie g% oNid) = 0.1 +1.8+0.9
i =28
AT, =iKm
AT, = 2.8x1.86x 14:2>1000
142%200
AT, =2.6K
ot &1 fewish = — 2.6° C
I (2)

Tehd: CaBr, (Sa [IEA3TTHE) 1 FHIES 8H SR
o &Y H T T AT AgBr S Tt st &6 T 3|
TA: CaBr, Todt foraeToees 2|

CaBr, —> Ca®" + 2Br~
01 2x0.1=0.2
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55.

56.

57.

AgBr = Ag" + Br-
(s) (0.2+5)=0.2

[Ag*][Br—] =Kgp
sx0.2=5x10""
5x107"3
S=—— —
0.2
s=25x%x10"2
Solubility of AgBr=2.5 x 10-12 M
Answer (1)
Hint: Number of atoms in molecule
_ Mass of molecule
Molar mass

Sol.:

x atomicity x N

«  Number of atoms of CH, =%><5><NA

=0.75 Na
16
«  Number of atoms of SO, = a1 3Ny

*  Number of atom of CgzH,,04 = %X24NA

=1.2N,

Number of atoms of CO, =%X3NA =1.5N,

Answer (1)

Hint: Higher is the effective nuclear charge
smaller is the size of ion.

Sol.:

+ 0% and F~ are isoelectronic species having
10 electrons each.

+ Effective nuclear charge on F~ is more
hence F ~is smaller in size than O%-.

Answer (2)

n2

Hint: r, =a, —
n 0 7
de Broglie wavelength A is given as

nA = 2nrn

(3

2

Sol.: r; =a, x

55.

56.

57.
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AgBr = Ag" + Br~
(s) (0.2+s)=0.2

[Ag" |[Br | =K,
sx0.2=5x10""

5x107"3
§=———
0.2
s=25x10-12
AgBr # faeRrar = 2.5 x 1012 M
IW (1)
Fichd: U] H GCATIHAT 6T AT
CAN-CLIE]
=3§W TTATAH % XNA
B

. CH435W3ﬁﬁH@T:%x5xNA

=0.75 Na

. Sozéswmgaﬁa?rﬁwzé—iwm

. CeH1206a5WW\T)3ﬁ?mpf1:f@T = % x 24N,

=1.2N,

coﬁwvgaﬁa%éw:%xsm =1.5N,

Il (1)

Teha: Tt TTTEH e fSraaT 21frek 2T € St

T SRR ST &1 BT Bl 2

B

- 027l F - gugeiag wfiwist € fome sk o
10 SAF &

o F~ W ywrell Aifhig e stftres gar @ e
THHT HATHR O2-hT 3TULT BIT BT 2

I (2)
. n?
Hhd: I, =a; —
Z

& siredt qEresd A sl A wenm fearm St @:
n\A = 27rn

)
BCl: r; =ay X 5

9
r3:§ao
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58.

59.

_2mry [

9y n=3|

A =3a,m

A =3x52.971 pm

A =158.7t pm

Answer (4)

Hint: Angular momentum = I(I+1)h
Sol.: For p-orbital | = 1

Angular momentum = [1(1+1)x

= 2n

Answer (3)

Hint: The molecules having same number of
bond pairs and same number of lone pairs on
central atom will be isostructural.

Sol.:

Same number of bond pairs and lone pair are
present on central atom in NHs and PClz hence
they are isostructural.

58.

59.

_ 2mry [
-2 L

A n=3|

A=—x—-a
3 g%

A =3aym

A =3x52.971 pm

A=158.7t pm

ST (4)

wHeT: i ga = fi(1+ 1)

Tz p-heTeh oh T | = 1

HIVRE ET = [1(1+ 1)

=21

I (3)

Tohd: Sheld TCHTY] T HAT G | s I q91 99
AT H THH! I STl 0] FHETEHTHE B ol
B

NHs T PCls # S5 AT 9T FH &A1 | HATee
I qAT THThT I & AT, 3 AHETTH o
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60. Answer (4)

61.

62.

Hint: For single electron species, the energy of
atomic orbitals depends only upon the value of
principal quantum number i.e. n.

Sol.: For He* ion, higher is the value of principal
quantum number i.e. n, higher will be the energy
of atomic orbital.

Correct order of energy of atomic orbitals is
5s>4d=4p=4s>3d=3p=3s
Answer (4)

Hint: Since unit of rate constant is s=' hence it is
a first order reaction.

R
For first order reaction, k = @Iogg
[R]
R
Sol.: t=—2'303IogQ
k 7 [R]
_ 2.303 og@
9.212x1073 80
:%[IOQW—QOQZ]
_ 2.303 o
9.212x107°
t=25s
Answer (4)

Hint: In modern periodic table on moving down
the group, the electronegativity generally
decreases and on moving left to right, in period,
the electronegativity increases.

Sol.:

* Generally, ionisation enthalpy increases on
moving left to right in the modern periodic
table.

The ionisation enthalpy of N is greater than
O, because N has half filled 2p sub-shell.

* Generally, on moving top to bottom, the
negative value of electron gain enthalpy
decreases but the negative electron gain
enthalpy of O is comparatively less than

expected because of interelectronic
repulsion.
* As the metallic character of elements

increases, the basic character of their oxides
also increases.

Mock Test for NEET-2024_Hints & Solutions ‘

60. I (4)

61.

62.

Tohd: THd Soiag TSt o foTu, oy shement 1
I sharet A FaleH EEAT 37T n o W R i e 2
TA: He* W%%@,ﬂ@lmmmnaﬂ
W [SIGET 3Rk BN, ATY] heTeh ol Sl 3ot &l
Tk |

TRHTV FHETehT oh1 st ol Tl 36 T 2
5s>4d=4p=4s>3d=3p=3s
ST (4)
Teha: Tifoh I FoRieh T AT 51 &, AT AT T
ahife i Affsram 8

o e < e 3 g k:@m%

R
T t= —2'303 Iogg

k [R]
_ 2303 og@
9.212x10°% ~ 80
:%[Iogm—mogﬂ
__ 2303
9.212x10°
t=25s
IH (4)

TR Aad ot § o § A T w

TrRIAEROTaT A Hedl € AR e § 9 ¥ A

= W forgesRoTT et )

T

«  WHRI: AT HATed AR H SR § IR S T
ST T st 2
N sl ST Tt O § 3115k Bidt &, a/iifer N &
e I 2p ST B Bl

. W SR Y A A ST T W S = afeyr
AT FT HOHE AH Hedl @ W O I
UM AT Ao TS SHRGAde 1T
STcraReoT 3 SHROT JeTTereh &9 & STV & o el 3

. Tcal T Ylfcdsh AT S@d T, 3ok T3Sl &
T TrevT off sed 2
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63.

64.

65.

. Elements  Electronegativity . ac e UTUshy WX
on Pauling Scale fRrerasuraT
N 3.0 N 30
c 2.5 C 25
Si 1.8 Si 1.8
Al 1.5 Al 1.5
Answer (2) 63. ST (2)
Hint: Higher is the number of unpaired electrons, REGHERI ST shl AT Tt 2Tk B &,
greater is the value of spin only magnetic Wmﬂa;ﬁqaﬂqﬁmmwﬁmm%|
moment. -
Sol.: )
Complex ion | Number  of | |, - lin(n+2) U AT aqoliqva’ p=n(n+2)
unpaired g T BM
electrons (n) BM HEAT (n)
[Co(H20)e]** | 0 0 [Co(H20)]** | 0 0
[MnCle]*- 4 4.9 [MNnCle]?- 4 4.9
[Fe(CN)e]*- 1 1.7 [Fe(CN)e]*- 1 1.7
[Mn(CN)sJ*- 2 28 [Mn(CN)g]*- 2 2.8
Answer (2) 64. ST (2)
Hint: HF has exceptionally high boiling point Hehd: SFAHATVAF  BTEGIOH ATeM hi Sufeafd =
because of the presence of intermolecular FTOT HF o1 F9-eh 3TN0 €9 9 3o 2laT 2 |
hydrogen bonding.
B
Sol.:
Compound Boiling point (K) (K)
HF 293 HF 293
HCl 189 HCI 189
HBr 206 HEr 206
HI 238 Hi 238
Answer (3) 65. 3IW(3)
Hint: 1 Faraday electricity deposits 1 g- Hehd: 1 %Ure el 510 seiagie T 1 7 -qedieh 1y

equivalent of substance at electrode.

Sol.: Number of Faraday passed
_ 3.86x100x60

=024 F
96500
Mass of nickel deposited = 0.24 x 58.7
=7.04¢
= 7 g

Frefta gar )
FA: YATEd e hl ST

_ 3:86x100x60 _ o, ¢
96500
58.7
ﬁ%ﬁﬁﬁ%wwzo.mxT
=7.04¢
z7 g
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66.

67.

Answer (4)

Hint: Benzene diazonium chloride is converted to
phenol on reaction with water

Sol.:

Answer (2)
Hint:

1
+ BO=Z(N,-N,)

» Species which contain unpaired electrons are
paramagnetic in nature.

* Species which do not contain unpaired
electron are diamagnetic in nature.

+ Nz(14e)
BO = %(10 —4) =3 (Diamagnetic)
+ Ny(15¢7)

BO = %(10 —5)=2.5 (Paramagnetic)
+ NO(15e")

BO = %(10 —-5)=2.5 (Paramagnetic)
- NO*(14e)

BO = %(10 —4) =3 (Diamagnetic)
. 02(16€")

BO = %(10 —6) =2 (Paramagnetic)
- 0O}(15e")

BO = %(10 —5)=2.5 (Paramagnetic)
*  H2(2e)

BO = %(2 —0) =1 (Diamagnetic)
+ H,(3e)

BO = %(2 —-1)=0.5 (Paramagnetic)

66.

67.

Mock Test for NEET-2024_Hints & Solutions ‘

I (4)

FHehel: S STSUSIIH FARIZS ST oh T AT hAT
W EHTe | afafdd 8 St 2l

B

W (2)

Hehd:

. BO=%(Nb—Na)

o o el § Srgfd s Bid © o SAgEeeh
TRl % B 2

- @ v & sgina so@ee T 8§ A
SIfcre[erehIa Tehfer % Bt &

B!

«  Nz(14e)
BO:%(10—4):3(;rfa@aaﬁ-q)

« Ny(15e7)

BO:%(10—5)=2.5(ag§aeﬁa)
- NO(15e)

BO=%(10—5)=2.5(31§%0|'6|3|?I€[)
« NO*(14e")

BO:%(10—4)=3(§Iﬁﬂaﬁﬁ€r)
.+ O2(16€")

BO:%(10—6):2(a§iiaEﬁH)
- 0j(15e7)

BO=%(10—5)=2.5(313§33|%H)
« Hz(2e)

BO:%(2—0)=1(EFI%|§H‘oﬁ?I)
« Hy(e)

BO :%(2-1): 0.5 (3T=[erehI)
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68.

69.

70.

71.

Answer (2)
Hint: For free Expansion, Pext = 0
Also, w = — PextAV = 0

Sol.: For adiabatic process, heat change in the
process is zero.

* According to first Law of thermodynamics,

AU=q+w=0
* Also, AU = nCAT
AU =0
AT=0
Answer (4)

Hint: The given reaction is Hoffmann bromamide
degradation reaction.
Sol.:

O NH NH

2 2

Br,

NaOH

Amine formed in this reaction is one carbon less
than the given amide.

Answer (4)

Hint: More stable is the carbocation, faster is the
Sn1 rate

Sol.:

e The intermediate species formed in the Sn1
reaction is a carbocation, More stable is the
carbocation faster is Sn1 rate.

e Stability order of carbocation
@
>®> /\@ >>® >\

e fert butyl chloride (é— C') will react fastest
by Sn1 reaction.

Answer (4)

Hint: Electron withdrawing group present at para-

position increases acidity of phenol derivative.

Sol.:

e Electron donating groups like-CHs, -OMe
decrease acidity of phenol.

e Electron withdrawing group present at para
position increases acidity of phenol.

e —NO: stabilises the conjugate base by —-R
effect hence p-nitrophenol is most acidic
among the given molecules.

68.

69.

70.

71.

IH (2)

Tehd: qh TEN 6 [T, Py = 0

g E, w=—P,,AV =0

TT: TG oA o foTu, TshH & SSAT aftard ST 2t 2
«  FHATIEHT o S I o STTER,

AU=q+w=0
« 3, AU = nCWAT
AU=0
AT =0
I (4)

Feha: & TS AR BHAM MRS e
SR
B

0 NH NH

2

Br,
NaOH

30 AT O o arel Wi ¥ fu T unTse @ us

SHTe W el 2

I (4)

Tohel: SHTSTRT ohT EATRIcT fStaT 31feren 2T ?, SN

ST T 3T & STk BT 2l

g

o Sy fufRT O s aTelt wemad wiiwfis
FHIHUTIA §, SIS T TTired fSaam 2aferes
BIAT R, Sn1 T ST 3T & 2Afereh Brar R

o HISUAREH % TTRIcT T oA T R

%@»/\@ >>@> \/®

« i e e (o)) st s
ZRT Taiferes derar & tfvfra sm)

3T (4)

Teha: H-feafq ot Sufterd g 1R e hiHTe

ST T STFAAT H ST B

Bel:

e TOHRM @ HIE SW-CHs, -OMe T i
TR i HH FLd

o O Flerfe ot Sufberd et et T et Al
AT ST <l

o —NO; TFHft &R FI -R T ZRT TmRA Fr 2
o fo T St pArEERier W
e 2
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72.

73.

74.

Answer (1)

Hint: Benzenesulphonyl chloride reacts with

primary and secondary amines to form

sulphonamides.

Sol.:

e The reaction of benzenesulphonyl chloride
with primary amine yields

N-alkylbenzensulphonamide. The hydrogen
attached to nitrogen in sulphonamide is
strongly acidic due to the presence of strong
electron with drawing sulphonyl group.
Hence, it is soluble in alkali

Q o]
[ I H
E cl +/\/\NHZ—) @—E NM
N-Butylbenzenesulphonamide
(Soluble in alkali)
¢ Inreaction with secondary amine, N, N-dialkyl-
benzenesulphonamide is formed which does
not contain any hydrogen atom attached with
nitrogen atom. It is not acidic and hence
insoluble in alkali.
e Tertiary amine does not react with benzene
sulphonyl chloride.
Answer (3)
Hint: Sucrose is a non-reducing sugar.

Sol.: e Sucrose on hydrolysis gives equimolar

mixture of D-(+)-glucose and D-(-)—fructose

Ci2H2044+H,0 — CeHi06 + CeHy04
Sucrose D—(+)-Glucose D—(—)-Fructose

e Since the reducing groups of glucose and

fructose are involved in glyosidic bond formation,

hence sucrose is a non reducing sugar. It does

not reduce Tollens’ reagent

Answer (4)

Hint: More is the number of hyperconjugative

structures, or o - hydrogens more is the stability

of alkene and lesser is the energy released on

catalytic hydrogenation.

Sol.:
Compounds  a-hydrogen atoms

5

$22%

72.

73.

74.

Mock Test for NEET-2024_Hints & Solutions ‘

I (1)

Hehd: S~o(HHTHIT FARIES TTfieh aor fgdieeh

T 3 A1 ATTRAT T TehIAATES ST 2

Bl

o IAUTHINS FeARIZS il Trftes Wi & a1y
afufsr W N-fehas=iachaaTEs T g
2| HTHATES | ATRgSA 8 eI TRgeH Yad
SFI ST Tl THE ohi SUTET oh HIOT
e STRAT Bl 81 AT, IE &1 H Fesiiel §

o fecfiores Ui o T At § N, N-STsufoshat -
SAIACHIAATES ST & o ATggisi Ty &
T IS TTTSISH THIY e BaT 81 78 veefier 7
& T 3HTCTY I ST B

o TdE UHH oA Ak FARsS o a1
farfspam 72 st 21

W (3)

TRA: TS U 3TH-STIEES 6T 2

TA: WIS 6 SIAHTIST T D-(+)-hIS qAT

D-(—)— SISt T e HITR fH3foT ST &rert 21

C12Hp041+H,0 = CgHi06 + CoHin0g
ehrot D—(+)-TPIST  D—(—)-ThaRrST

o dAfF THN TAT WERS &k ATATER EHE
TETEhIETEE STTe o Wi o €, i R
U IH-TIERIS I 2| I8 et AT i
ST T LT 2

SH (4)

Tehd:

T GTEATSTT AT o-TTEEISH T T&AT Tk

BN T, UeshiA ol TTRIce ATk BIaT & T ScUTEhi

BTSSISHIHT X 7k Hoft el ardl 2

Bqel:

- BTG UTHT0T

5

R888¢
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75.

76.

77.

78.

Answer (2)
Hint: Percentage of

3 Molarmass of S xMass of BaSO, x100
~ Molarmass of BaSO, xMass of organic compound

32x0.699x100
Sol.: Percentage of sulphur = —————
9 P 233x05
=19.2%
Answer (2)
Hint: Compound containing
0
CHa—g— and CHB?H— groups react with NaOl to
OH
give iodoform.
Sol.:
CHO
NaOl, No Characteristic change
Benzaldehyde
Answer (2)
Hint: In a reaction of two different carbonyl
compounds self aldol and cross aldol

condensation reactions will take place.
Sol.:

CH,-CH, - C=CH-CHO will not be formed.
CH

3
Answer (3)
Hint: The species which does not contain d
electron(s) will not show colour in aqueous
medium.
Sol.: Cu?*, V3 and Ni?* contain d electrons hence
these are coloured species in aqueous medium
while Sc®* does not contain any d electron. Hence
Sc?* is colourless in aqueous medium.

75.

76.

77.

78.

FH(2)
ﬁ%ﬁr;
& S @ AR S x BaSO, BT G x 100
S B BaSO4WWWxEﬂETé?FWWW
32x0.699x100

: TR BT Afaerd = ————— %
¥ 233x0.5
=19.2%
FH(2)
Tehd: R I A1 NaOl
& Gy PR T SR 2 B
TA:
I (2)

FHeher: a1 = shEier ANfrerr i 1fifsrar § @a:
UeSTd dT hid Ues ol Tea AT feRamd gl
B

CH, - CH, -G = CH-CHO ENECEUIT

CH

I (3)

Teha: I TR S o Soiag@ 81 2id © Stel 1 AT
Foradiqmia 8

FeT: Cu2*, V3* aT Niz* | d S92l 8Id § gafere 3
Steftar wrem o T wftefis € Sefeh S # #18 o
T T BrelT 81 3 Scé+ Seltd qredy # T gt
H
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79.

80.

81.

82.

Answer (2)

Hint: The species which contains paired electron
are diamagnetic in nature.

Sol.:
Compound | Shape & | Magnetic
/lon hybridisation | behaviour
[PtCls]%- Square planar | Diamagnetic
and dsp?
[Ni(CO)4] Tetrahedral Diamagnetic
and sp?
[Cu(NH3)4]?* | Square planar | Paramagnetic
and dsp?
[Pt(NH3)2Cl2] | Square planar | Diamagnetic
and dsp?
Answer (2)
Hint: A G°=-nFE_,
Sol: Ecer =Eg 2.0, B/
E =0.34+1.66
Eoer =2V
A.G®=—-6x96500x%2
=-1158 kJ mole™
Answer (4)
Hint: 4Zn + 10HNO3 (dilute) — 4Zn(NO3)2 + 5H20
+ N20
Sol.: 3Cu + 8HNOs3 (dilute) — 3Cu(NO3z)2 + 2NO+
4H20
Answer (4)
Hint:

e The process is adiabatic, hence q =0
e WwW=—P&AV

Sol.: w = —5(vi —vi)

=-5(3.25 - 1.25)

w=-10L atm

From first law of thermodynamics
AU=q+w

AU = w (for adiabatic process)
AU =-10L atm

=-10x%x101.3

AU =-1013J

79.

80.

81.

82.
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I (2)
Tchd: I TS S JAd soidg ™ Bid 8, Siresshia
JRfdl 3T 2t 2
FIGH
g/ | SATeRfd quT REETE]
IpL) HeRIUT ITER
[PtClaJ?- T A AT | Scefsreh T
dsp?
[Ni(CO)4] TR qAT | Aiferehid
sps
[Cu(NHs)a]?* | a1 Hweelr qe | STfeershi
dsp?
[Pt(NHs)2Clz] | T grocrefi dem | Sfa<srehia
dsp?
ST (2)
"Ha: AG =-nFEy_
T By =Ec e, ~Easa
E,,=0.34+1.66
E,, =2V
AG° =-6x96500x% 2
= -1158 kJ mole!
FH - 4)
Fehd: 4Zn + 10HNOs (A7) — 4Zn(NOs)z + 5H20
+ N20O
FeT: 3Cu + 8HNOs (A7) — 3Cu(NOs)2 + 2NO+
4H20
Il (4)
Hehd:

° W’\‘\T&ﬁmé, SH'%I'Qq =0
o W=—PeAV

BT W = —5(vr —vi)
=-5(3.25-1.25)

w=-10 L atm

FTfehT o Tom e o
AU=qg+w

AU = w (FGI™T 56  foTm)
AU =-10L atm

=10 x 101.3

AU =-1013J
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83.

84.

85.

86.

87.

Answer (3)
Hint: Enthalpy of reaction
= (BE)Reactants —(BE)Products

1 1

Sol.: 7A,(9)+B,(9)——AB(9)
AH = AH = (BE)reactants - (BE)products

1 1
= 5 %(BE), 5 +5%(BE) 5 ~BE, g
XLy,

2 2
Answer (3)

Hint: Secondary alcohol is oxidised to ketone by
heating it with copper at 573 K.

Sol.:

Answer (1)

Hint: Amphoteric oxides behave as acid with
bases and base with acids, whereas neutral
oxides have no acidic or basic properties.

Sol.:

Compounds Chemical nature

(6]0) Neutral

Naz0 Basic

Cl207 Acidic

Al2O3 Amphoteric
SECTION-B

Answer (4)

Hint: Salt of weak acid and strong base

undergoes anionic hydrolysis.

Sol.: NaCN + H20 = HCN + Na* + OH-

NaCN is a salt of strong base and weak acid. So,
hydrolysis of CN- takes place.

Answer (2)

Hint: Cyclic species containing (4n + 2)x
electrons in conjugation are aromatic in nature.

83.

84.

85.

86.

87.

I (3)
oha: rfufsrar ff e
= (BE )i —(BE )serre

1 1
B §A2(9)+§Bz(g)—>AB(g)
AH = AH = (BE)tmmeres — (BE )seme
1 1
=5 (BE), A + 5% (BE)y s —BE, &
X

S -
272

I (3)
Tohd': fgc e Teshlaiel 573 K T ahiqT o | T i

T IS T eI & ST 2
Bl

I (1)
Hohd: IHTYHT HTATSS &I o T 3T AT 3TFA
1Y T o €9 § STGEH d 8, STelfoh IS JHTregs

T %S 3Trelter AT QT e e B 2
Tqe:
it TraTateh STehfd
(e]0) RHECIE]
Na20 AT
Cl07 TFAT
Al,03 JwreH]
wse-B
I (4)

TR goicT 3FF SN Jefet &7 & SIA7 TT0T ROk
STASTTEIET g 2

geT: NaCN + Hz20 = HCN + Na* + OH-

NaCN Jaret &I 371 Geict 3TFeA § ST aoT 8] 37 CN-
T ST BldT 2

I (2)

Tehd: €W H (4n + 2)n AR I7h s TS
WA v o 2 8
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88.

89.

90.

Sol.:
@

e Tropylium cation @ contains 6x

electrons in conjugation which follows
Huckel's (4n + 2)n eIectron rule.

are antiaromatic
and

© is non-aromatic

Answer (2)

Hint: In diamond, each carbon atom is bonded to
4 carbon atoms.

Sol.:

* Indiamond, each carbon atom undergoes sp?®
hybridisation and linked to four other carbon
atoms.

* In graphite, each carbon atom in hexagonal
ring undergoes sp? hybridisation and makes
three sigma bonds with three neighbouring
carbon atoms. Fourth electron forms a =
bond.

* In Buckminsterfullerene, all the carbon atoms
are equal and they undergo sp? hybridisation.
Each carbon atom forms three sigma bonds
with other three carbon atoms.

Answer (2)

Hint: At constant pressure, on introduction of
inert gas, volume increases hence equilibrium
moves in a direction where number of moles of
gases increases.

Sol.: At constant pressure, introduction of inert
gas (helium) will lead to the increase in volume
hence dissociation of ammonia increases.
Answer (2)

Hint: The element in its lowest or in its highest
oxidation state does not undergo
disproportionation reaction.

Sol.:

ClO; does not disproportionate because in this

Among the given oxoanions of chlorine,

oxoanion, chlorine is present in its highest
oxidation state that is +7.

88.

89.

90.

Mock Test for NEET-2024_Hints & Solutions

T
@
. ST @ 3 6. g e

BId & ST 8okl % (4n + 2) T SoideT T+1IH T I1efd
AT 2

. Vi 2
I (2)

Teha: € H, T e AT 4 FHleH THIRA &
sifer grar 2|

Bl

. ﬁﬁ,WWWWSWW‘@ﬁT%W
T 3T TS TS § ST &It 2

«  UISE ¥, TRV T H T e T 0
Sp? EHTOT BIAT & F 1 Sfcrareft shrel sATopar

% g of Rt sier sHTQT B1 =T seH U 1
ERECIGIRS
. THERIGER H, aeft e T quE e 8
HT S sp? HHT ST €| T el TLH] 3=
< ahTaie TRATUST o BT o T st s B
FH(2)
Tehe: 3 g W, feha g fire W, S1merae sigar
2 gafoe wreg 3@ fo # i swean @ for 3 et
Hied sht T et 2l
BT T g W, AT T (iferam) e o e
T gfg grft afere smHif=T 1 foreei sear 21
FH(2)
Tehd: T FTam a7 Sean SiTeRiieRoT STae o
feorat et eI Sffsra e qwrial
Bl FARH & feU U SAtemnRuEEl § 9, ClO;
AT e BT § Hifh 39 SR ),
FARIT ST TTeIcH SHTFHIHIOT SFaEAT +7 F IYTL 2

Corporate Office : Aakash Tower, 8, Pusa Road, New Delhi-110005. Phone : 011-47623456



Mock Test for NEET-2024_Hints & Solutions

91.

92.

93.

Answer (2)

Hint: In Wurtz reaction, alkyl halides on treatment
with sodium metal in dry ether give higher alkanes

Sol.:
*  Wurtz reaction:

2CH, —Br +2Na-2YE"" ,CH_ _ CH, +2NaBr
»  Decarboxylation:

CH,COO™Na" +NaOH-%29,CH, +Na,CO,
+ Kolbe’s Electrolytic method:

2CH,COO ™ Na* +2H20M5ii>

CH, —CH, +2CO, +H, +2NaOH

Answer (3)

Hint: Primary aromatic or aliphatic amines on
reaction with chloroform and ethanolic potassium
hydroxide give isocyanide. This is known as
carbylamine test.

R-NH, +CHCI, +3KOH-s R-NC +3KCl+3H,0

(purgant Smel)
Sol.:
* CHsNHz2 and , both give
carbylamine test.
* CHsNHz2 and , both give

carbylamine test.

* CHsCH2NH2 gives carbylamine test while
will not give

carbylamine test.

* CHsNH - CHs and , both do
not give carbylamine test.

Answer (4)

Hint: Borax is a salt of weak acid and strong
base.
Sol.:
e Borax is a salt of weak acid and strong base

hence its aqueous solution will be alkaline in
nature.

NazBs+O7 + 7H20 — 2NaOH + 4H3BOs

91.

92.

93.

3 (2)
Tohd: SN ATHGRAT H, Uceshcl 2aITgS o Ik ST H
Hifead oTq o |TY YT A W ITac Yoahd TTH
2l ¢
B
.« IS AR
2CH, —Br + 2Na-2YE"", CH, —CH, +2NaBr
S CACIIERCiERUR
CH,COO Na* +NaOH—=2>CH, +Na,CO,
. mﬁ%ﬁm fafer:
2CH,COONa* +2H,0 & =T
CH, —CH, +2CO, +H, +2NaOH
3 (3)
Tohd: WA UUHISH AT UfThiesh UHI FArem
ST CHfeTeh W1 BEgTeRTES oh Ty STfiyfshar o
HTTHETIAIEE 4 T S0 HITSITIHA THE0T BT ST

ST 2

R—NH2+CHC|3+3KOHA> R-NC +3KC|+3H20
TSATATT

B

«  CHsNH; 3t T HTTTATHT
T d B

«  CHsNH, 3R AT FrfeIUH
T d B

«  CH3CHzNH, ifdeud wfieror a1 @ e

FfSTUH Tieqor T

am

« CH:NH - CHs 3R e
SHfsieTUH I gleror 72 2 8

I (4)

Tehd: S gelet ST qT Jeiet &7 ¥ ST o vl
H

g

. geieT ST AT FaA G H ST Uk 0 §
3T THERT STAT [T & it 1 BATI)
NazBsO7 + 7H20 — 2NaOH + 4H3BO3
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e Borax on reaction with dilute HCI gives boric
acid as one of the products.

Na2B4+O7 + 2HCI + 5H20 — 2NaCl + 4H3BO3

94. Answer (2)

95.

96.

Hint: For high spin octahedral complexes,
eg orbitals starts to fill when each orbital of tog
acquires one electron.

Sol.:

CFSE=3x-0.4A0+2x0.6A0=0
Answer (3)

Hint: Lone pair present on sp® hybridised
nitrogen atom will be most easily available for
protonation.

Sol.:

e Lone pair of electrons present on nitrogen of

pyrrole Z/ N\B are involved in resonance

H
and the molecule becomes aromatic hence it
is least basic.
e Lone pair of electrons present on the nitrogen
of aniline is delocalised in the benzene ring
hence its basicity decreases.

X

=
N

on sp? hybridised nitrogen while in
NH

e |n pyridine | the lone pair is present

2

benzylamine the lone pair of

electron is present on sp® hybridised nitrogen
atom hence benzyl amine is most basic
among the given options.

Answer (3)

Hint: Since unit of rate constant is mol L-'s™!
hence order of reaction is zero.

94.

95.

96.

Mock Test for NEET-2024_Hints & Solutions ‘

o SiEH, T HCI % BTl SAMTHAT itk T 3c01E 6
wY T S T T B

Na2B4+O7 + 2HCI + 5H20 — 2NaCl + 4H3BO3
I (2)

Tohd: Ioel TIhUT STEAHIT HEHe o A, ST tog T
Yo hefeh Ueh Soidhe T8l ohL oidT &, O eg helsh
T IR B 2

T

CFSE =3 x-0.4A0+2 x 0.6A0=0

W (3)

Tchd: Sp3 TR ATSZIST TRHTU] T ST TehTeh! I
SETTeRoT o o Tt STt & Soety gl

Bl

o UTEWA Q % AgISH T IJUTRAA TR
H

ST T STTATE H T oI & oI 37 GUafeah &1
ST 8 SEfAT e Tl W & Bl 2

o UM o TSN T IUREd THTh! e IH
I g o faguried @ ¥ gafaw seeht
&TEHAT ¥ &1 STl &

X

. i (|| § e qm s dHE

—
N

m@mm.-wﬁméwﬁﬁéﬁa@?
NH

2

o THTRT TAIEH I sp® T

TR T W Sufkerd  gafer fow e et
T SIS Ted 1tk e R

I (3)

THehd: %Ifﬁéﬂﬁmﬁﬁaﬂﬂﬁiﬁ mol L-'s~! & 3feIT

Affsrar it i = 2
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97.

98.

99.

100.

Sol.:

X - Y
Initial 3 M 0
Final 3-kt kt

Concentration of Y = kt
=2.5x 10 x 100 x 60
=15M

Answer (4) 97.

Hint: Sodium acetate will undergo hydrolysis in
water and pH of the solution will be determined as

pH=7 +%[pKa +logc]
Sol.: pH=7+ %[4.76 + |ogO.2]

pH = 7+%[4.76—0.7]

pH=9

Answer (1)

98.

Hint: Enthalpy of neutralization of a strong base
with a strong acid is —=57.1 kJ eq™

Sol.:
HCI + NaOH — NaCl + H,O
Initial: 400x0.5 600x0.2
=200 mmol 120 mmol
Final: (200-120) 120 mmol
=80 mmol

NaOH is limiting reagent

. Heat released = 120 x 10-3 x 57.1
=6.85kJ

Answer (3) 99.

Hint: Unit of rate constant is (mol L") s*', where
n is the order of the reaction.

Sol.: For second order reaction, n = 2
Unit of rate constant = (mol L-1)"-2 s
=mol'L s

Answer (2)

Hint: Thionyl chloride is SOCI2

100.

FIGH
X =Y
yifies 3 M 0
Hfamw  3-kt kt
Y <t Gigar = kt
=25 x 10~ x 100 x 60
=15M
3T (4)
Hohd: HIfeTH THIeE STt | STeATusied & ST & aim
foretam & pH =t e e yepm forarm stmam

pH = 7+%[pKa+Iogc]
T pH=7 +%[4.76 +10g0.2]

pH:7+%[4.76—0.7]
pH=9
I (1)
Tehd: Yo 30T o AT Y &R sl ST
Tt —57.1 kJ eq! Bt Bl
Tqe:

HCI + NaOH

URfA®:400x0.5  600x0.2
=200 mmol 120 mmol

(200 -120)

=80 mmol

NaOH diwid sifyrerdes &

. T ST = 120 % 103 x 57.1

=6.85kJ

3T (3)

Hehd: AT frdiss T AF (mol L)1 s1 8, ST&f n

arfurfram i ife 2

Bqel: ﬁ?ﬁ?aﬁﬁm%%ﬁ, n=2

-, o frIdies T | = (mol L-1)1-2 -1
=mol-'Ls™

ST (2)

HRA: AT FAEE SOCH: 2l

— NaCl + H,0

3ife:

120 mmol
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101.

102.

103.

104.

105.

106.

[BOTANY]

SECTION-A
Answer (1)

Hint: A pure line plant is a true-breeding plant
which shows stable trait expression and
inheritance for several generation due to self-
pollination

Sol.: Mendel choose 7 pairs of contrasting traits
in pea plants.

Answer (2)

Hint: Homologous chromosomes pair before the
crossing over process which occurs in pachytene

Sol.: Leptotene — Condensation of chromosomes.
Zygotene — Pairing of homologous chromosomes.
Pachytene — Crossing over.

Diplotene - of

chromosomes.

Answer (2)

Hint: Cells of this region differentiate to form
certain structures.

Sol.: The epidermal cells from the zone of
maturation form fine and delicate, thread-like
structures called root hairs.

Answer (2)

Hint: Heterostyly refers to difference in the length
of stamen filament and style of stigma in a
bisexual flower.

Separation homologous

Sol.: It is a morphological method in some plants
like Primrose to prevent self pollination.

Answer (1)

Hint: In one turn of Krebs cycle NAD* and
FAD* are reduced.

Sol.: In one turn of Krebs cycle, 3 molecules of
NAD* are reduced to NADH + H* and one
molecule of FADH: is synthesized.

Answer (1)

Hint: RNA polymerase synthesizes mRNA.

Sol.: DNA polymerase can polymerise 2,000 bp
per second only in one direction i.e., 5" —» 3’
direction.

101.

102.

103.

104.

105.

106.

Ts-A
S (1)
TR Ueh Y[ A¥oHH STl UTeY EY-SeHT q1ed gl
2 ST -9 o hROT o Yifeal aeh wmfl fosives
ATk ST SRR a1t 2
TA: Heat - At aredt # foroatelt fomwer o 7 i
ERERERIRI
W (2)
Tiehd: TSI TOTGET 21 I, TIATE H B dTe SiiH-
forfrerer & weet gt 2
T TIIE — TOTEAT T HEA
T — T T 1
T[T — S-fafm
TS — TSI TUREST ShT FerarehoT
S (2)
TR 3H & hl IR fodfed gent famiy g
ERIGIE
FET: TS o &1 Shl STRIcar= hiTTehTS qaelt 3R
2l
SW(2)
Teha: fawmafaerdr, T il go7 # o dq 3R
FTTeRTH o AcieRT sh1 TAaTS H ST T wafid Ll 8|
TA: T8 YU ST S el H TGO i Uk bl
TS ST faIfer 2
SW (1)
Tha: U SR shodl =k & T NAD* 3T FAD* &
TR Bl 2

TA: TF AN HeH =@ 8 W NAD* & 3 3
NADH + H* & ST0=IRId 81d & 3T FADH. 31 T 31
REECRGIR

STL(1)

Tha: RNA TTefHst mRNA 3T Hs3H0T LT 2

FoT: DNA UTefiaist shaet wah fawm s7erfq 5" — 3¢ famm
7 W oS 2,000 bp T SEETeh LT T AT 2
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107.

108.

109.

110.

111.

Answer (2)

Hint: In parasitism and predation, one species is

benefitted and another one is harmed.

Sol.: Plants and fungi in mycorrhiza share

mutualistic relationship.

Eagle is a predator of rat.

Penicillium produces antibiotic penicillin, which

kills many bacteria.

Lice are ectoparasites on humans.

Answer (4)

Hint: Double chain of DNA is helically twisted in

right-handed fashions.

Sol.:

o Uracil replaces thymine in RNA.

e The backbone is constituted by sugar-
phosphate, and the bases project inside.

Answer (3)

Hint: Phylogenetic system of classification was
proposed by Engler and Prantl, Hutchinson and
Takhtajan

Sol.: Mosses (bryophytes) show haplo-diplontic
life cycle.

Eudorina is an alga in which two types of gametes
are produced.

In brown algae, the food is stored in the form of
laminarin or mannitol.

Answer (3)

Hint: The pigment that traps sunlight for light
reaction of photosynthesis has a tadpole like
structure.

Sol.: Photorespiration is a wasteful process as it
involves loss of fixed carbon.

Ruben and Kamen proved that the O: liberated
during photosynthesis comes from water.

Kranz anatomy is observed in C4 plants
Answer (3)

Hint: This chromosome appears J-shaped during
anaphase.

Sol.: One arm of the acrocentric chromosome is
very small and one very long, gives it a J-shaped
appearance during anaphase.

107.

108.

109.

110.

111.

I (2)

Tiohdl: TSHToT ST TRIE0T 8, Toh ST shl AT &I

& 3T et srSiTher bt 21 et 21

TA: FARA H TG HI Faeh, HEITHIAT HT TG

BIEIERCE]

I, I T FRTehTl grerT 21

ofafdform & uffafem wfostferes 1 Semem ST 8, s

% ST T TE T 2

o, Tt o Te Tt e i &

3 (4)

Tehd : DNA i aredl sfarett afeqomrardt ueford it €|

B!

« RNA T 0fba, omrefie st wfoeenfia s 2

o UG MU IH-HIEhE T SHT BIT & AT &R
37e T TR ferd B 2

ST (3)

[RIKCUEE RS IEEARIERIT

T HE (SRATHIEIH) SOE-Tfrhl Sitam-=rsh

i &

TSRS T YaTet & Fore a1 9o & Ik 3=

&I €l

X QT H, Ter gare T Her Aftfe A A

&9 H g 2l

SW(3)

Tehd: TeRTRT-E30T T rehrer STffsran o for o <

STERTYT T STSIG, G ATel Uich ol TLaT 2eUTet SIEft

&I 2

TA: TERI-GET T FefE ufear @ wlife sew

Teorfieha el <t =1 el 21

Tl FCHTH A g, o Top SrepTer-wisedoor o6 SR ek

B ATt O2 ST | STt 21

Shel IR, C4 TTeYT § 9T ST 2l

W (3)

TRl e UM TETEET 6 SN J-3TTeHf 1 o a2

FT: SASIgeh TURESN hl Teh ST TEd DI S Teh ST

Tgd o Edt , FeE aw ggeem & @R

J-3TTRfer oA foms am 2
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112.

113.

114.

115.

116.

117.

118.

119.

Answer (2)

Hint: Hypodermis is absent in roots.

Sol.: Conjoint and open vascular bundles,
presence of medullary rays and pith, and
collenchymatous hypodermis are the
characteristics of dicot stem.

Answer (1)

Hint: NAD* is a co-enzyme which accepts
electrons during different steps of respiration.
Sol.: NAD* acts as an electron carrier by
transporting electrons to the ETS.

Answer (4)

Sol.: If an amino acid is coded by more than one
codons, it is degenerate.

Answer (3)

Hint: Biofertilizers are used in organic farming.
Sol.: Biofertilizers are organisms that enrich the
nutrient quality of the soil. The main source of
biofertilizers  are bacteria, fungi and
cyanobacteria.

Answer (2)

Hint: The pioneer species in hydrarch succession
are microscopic autotrophic organisms.

Sol.: Phytoplanktons are the pioneer species in
primary succession in water, followed by rooted-
submerged, submerged free-floating plants,
reed-swamp stage, marsh-meadow stage, scrub
stage and finally forest.

Answer (3)

Hint: In case of female heterogamety, ZW-ZZ
type of sex determination is seen.

Sol.: Grasshopper and Drosophila show male
heterogamety.

In birds, females produce heterogametes A + Z
and A+ W.

Answer (2)

Hint: Ribosomes bound to ER perform protein
synthesis.

Sol.: RER — Protein synthesis

SER — Lipids synthesis

Golgi complex — Glycosylation

Centrioles — Spindle formation in cell division
Answer (2)

Hint: Mortality reduces population density of an
area.

Sol.: Mortality is the rate of deaths in a population.

112.

113.

114.

115.

116.

117.

118.

119.

ST (2)

The: T[T H STEReaeIT STAfRerd gt 31

TT: Y Ud o HaeH S, Wi foRturt aet firer <t
Iafeufd ST it sTewcn, feeiemt @ &
AT €|

I (1)

Tehd: NAD" U He-USTTgH & Si 46 o ferfvr= =it
% S S TRUT AT 2

T NAD', ETS & a1 1 Iftare o O 3eiagi
T o 9 | 1 AT 2

3T (4)

T : T © AT RISH SR IS B T SFHIHT 377,
HAYE & STl 2|

W (3)

Tohd 1 ST IATHT T ST el ok Y F foram Srar
2l

B : 9 I, HaT I U1V WTHT S aTed S 8
STaTOY, e T BT Teae T STa3atehi & e &I 3
W (2)

Tehd: SO TR AT AA-HAATER  SSAEr
HAfrgEw e Sie 3l

TA: UETEH, S H W™ ATEAT
T, ST =0T 3 A 3 37 2

IW (3)

Tchd: WIET forsHhaT ol Rl #, ZW-ZZ YR &
fetr forefor o st 21

To: feger st ghaifere =R formepmrshar awiid 2
el #, A1eT g foremgmweh A + Z XA + W 3ca=
24 |

I (2)

Tohd: ER § S¢ g TSEEM, SIEH 2907 Ld 3
BFA: RER — TIEH Ggwor

SER — fafue @sguor

Titest G — TSR RS

TRFHZ, —> TR IS H qep (107

I (2)

Tehd: AEfeAd @ et &1 o1 Tmfy o &0 g 7
T: Tiefore!, foreft emfy o g At gy A w2
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120.

121.

122.

123.

124.

125.

126.

127.

128.

Answer (1)

Hint: It nourishes the developing pollen grains.
Sol.: Epidermis, endothecium and middle layers
are protective in function while tapetum provide
nourishment.

Answer (4)

Hint: Conduction of water is performed by
peripheral region of secondary xylem.

Sol.: Sapwood is actively involved in the
conduction of water and minerals from root to
leaves.

Answer (2)

Sol.: Selaginella is a member of class Lycopsida.
Answer (3)

Hint: This hormone is responsible for apical
dominance in plants.

Sol.: Auxin was isolated from human urine.
Answer (3)

Hint: Tropical regions have higher species
diversity than temperate regions.

Sol.: Tropical Amazonian rain forest has the
greatest biodiversity on earth with >40,000
species of plants, 3000 species of fishes, 1300
species of birds, 427 species of mammals, etc.
Answer (2)

Hint: Viroids are made up of RNA only.

Sol.: Prions cause mad cow disease in cattle and
Cr-Jacob disease in humans. Their size is similar
to that of viruses.

Answer (1)

Hint: Chlamydomonas and Volvox are unicellular
and colonial algae, respectively.

Sol.: Ulothrix and Spirogyra are filamentous
algae.

Answer (2)

Hint: Dumb-bell shaped guard cells are present
in grasses.

Sol.: Guard cells are usually kidney or bean

shaped in dicot leaves.

Answer (4)

Hint: Acetic acid is obtained from of a bacterium
Sol.: Penicillium — Penicillin

Aspergillus — Citric acid

Lactobaciflus — Lactic acid

Acetobacter — Acetic acid

120.

121.

122.

123.

124.

125.

126.

127.

128.

I (1)

Teohet: I8 faehraeiier TTeRuTT ot TINoT SRt Bl

TA: STRIcaT, SfceelTTeem ST wer uid uatTess Rl
Ll & STelfeh ST TS TeT e 2

3L (4)

Tehe : Toxiterens STgerm s uftefiT &= STt T Garg shtar
H

T : THHE, [ U TIerIT e STt a1 @iSiT T AR
Y ¥ Hagd w2l

IH (2)

F: THASTeTT, ATSehITeHST ol o1 Ueh Gew 2|

I (3)

Tehe: I8 B q1eat § 3fteer guifardt & forg Seeerh
BT 2l

T SATTeRA ohT HIe 1 | G2 fohart 71 o)

ITL(3)

Teha: AT &E il g § Wit & §
Foeral STt farforeran R

FoT: SURCSE T TS Nt o | qedt W Ted gt
Jafafaear & 9 uew @it >40,000 S,
Tt 6t 3000 Ssfeat, uferr i 1300 Jifaa,
et it 427 erfeat ofe 2

I (2)

Tohel: foged haet RNA & 59 24 2

For: freTa & wwor waftr & feshres W7 i ugst &
Cr-ihel T BT 2| ST STTHR ATE o THH BT 2

I (1)
Hohd: FAATSSIHITE R Ficdied HHTT: ThahlRTehIT
IR et et B

TA: FeTliorE IR TS At e &)
FH(2)

Toha: TTH H ST G HIRTERTE IR gt 7
Fot: fasfierasht uort it g RIfTeRTd amT=a: gaes a1
T AT SATH( el Brelt 2

3T (4)

Tchd: THITe 3TReT Tah SHTaTY] & ST foralT ST 2
got: Iffaferam — ufafafem
TERfsrerd — fafesw st

AT AT —> A 37
Wa@ﬁzﬁw
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129. Answer (1) 129. 3 (1)
Hint: Probes used in DNA fingerprinting are Teha: DNA fmfSifeT & ERAD EEEISRICE REAEN]
made up of repetitive DNA. DNA & s 819 8|
(S\;)'\Il._:rRV)ariable Numdber of Tar;)dem]c Repg;t: TeT: DNA TPl & fw oisr & &7 & G
s) are used as probe for ¢ .
fingerprinting. Qe sl Tt E&AT (VNTRs) T ST fohaT
ST 21
130. Answer (4)
130. T (4
Hint: In grassland ecosystems, the ecological @) ]
pyramids are upright Tohd: ST & ATGS |, aTiRie i e
Sol.: Pyramid of biomass in sea is inverted &I
because the number of zooplanktons T: 998 H S9¥R kT U 3o 2T & il

(consumers) is usually much higher than that of T ( 5 3];[.) % . e

roducers (phytoplanktons). . .
P (phytop ) (TTETETTehT) T HEAT & FTHTI: S5 e Bt 21
131. Answer (3)

131. I (3)
Hint: Cork is formed by the differentiation of cells .
produced by cork cambium on the outer side and Hehel: AT T FHI0T, KT T T ST 90T T 3=
is protective in function. FHITRTSAT % FIve ST AT & 3T I8 qRaaesh s
LT 2
Sol.: Due to origin of cork cambium outside the FeT: T o oT8T 1T THT o Swd o R0, 6 {9-arel
stele, it is also called the extra-stelar cambium. Tyt o) el AT 2l
132. Answer (3) 132. 3 (3)
Hint: In the S-phase, a non-membrane bound cell Hhe: S-UTEEdT B, U freci-ted ST i
organelle is duplicated. & Ay

Sol.: In S-phase, DNA is duplicated in the
nucleus and centrioles in the cytoplasm.

TA: S-UTTEAT H, shgeh § DNA T 3R hIf¥Terged §

TRhS T FEI0H I 2
133. Answer (2) >
Hint: In Antirrhinum, incomplete dominance is 133. 59 (2) ]
seen. Tohd: TIRTETH H, S0 ST ATt STt &)
Sol.: Bqel:
Red : Pink : White =1:2: 1 A < AT BT =1:2: 1
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134.

135.

136.

137.

138.

139.

140.

Answer (3)

Hint: Some algae and fungi can be in a symbiotic
association.

Sol.: A = Lichens, composed of phycobiont and
mycobiont, and it cannot grow in polluted
environment.

B = Viruses, inside host they act as living and
outside them they act as non-living.

Answer (1)

Sol.: Mycoplasma is the smallest living cell
known and they lack cell wall.

SECTION-B
Answer (3)

Hint: Each statement of the contrasting pair in a
key is called a lead.

Sol.: The keys are based on the contrasting
character generally in a pair called couplet.
Answer (2)

Hint: Ribulose-1, 5-biphosphate is the primary
acceptor of COz in Calvin cycle.

Sol.: Hatch and Slack pathway is observed in Cs
plants. Cyclic photophosphorylation involves only
PSI.

Answer (2)

Hint: Embryo sac of angiosperms is 7 celled and
8 nucleate structure.

Sol.: Female gametophyte contains three celled
egg apparatus and three antipodals at chalazal
end.

Answer (4)

Hint: Colourful flowers and nectar are present in
insect-pollinated plants.

Sol.: The pollen grains of the water-pollinated

flowers are protected from wetting by
mucilaginous covering.
Answer (4)

Hint: World Summit of 2002 at Johannesburg
involved 190 countries, who took a pledge for
reducing loss of biodiversity.

Sol.: Reducing the rate of biodiversity loss —
World Summit, 2002

Reducing emission of Greenhouse gases — Kyoto
protocol

Protecting the stratosphere — Montreal protocol

134.

135.

136.

137.

138.

139.

140.

ITL(3)
Tohd: S YaTe S Helsh Hesid| Hefel T 18 Tehd o
FoT: A = TS 8, ST SaTeAisT 3T sharshisT & ST BraT
2, 3R 7€ Wefta wateer # e 31w )
B = I® 8, ST Ut o offt Tiia & §9 § e
& 3 3o aex I fosffar o &9 S #:d 2
W (1)
FA: HISHITATSHT T Tl BIET HINTHT & a7 300
ahif3TeRT farfer bt aema B 2

w@E-B

IH (3)

Fehd: it # forotell I % Sedsh o i i e
ST 2

T ST, HTHT=I: 0 H T ST STl foraa et eeqor
T AT Bt & 5778 JFea et STt 2

I (2)

Fichd: e =ish H CO 3l WA HE UTET Raets-1, 5-
TSRS BIaT 2

FT: & TS TAF U, C4 UIGUT § YTAT SITT 8| =shis
TeRTIT-h I TR & Shelel PS | |ftAfeTd BT 2
W (2)

Fehd: STASSTT T YUhiR] T 7 FHIREHT 9 8
Fegehl T T Bl

TEA: AT LHHIREG 6 iR X o i ifvmeh
U UL T ofi TfreaTaia hIRTehTT Bt 2

IW (4)

Teha: TR 77 iR weRte, de-qufia aredt
J9Terd B 2

TN SICA-URTATA o1 3 TRITeRvT ShT TaT Sk TR0
T T STt 21

I (4)

Tehd: 2002 H Sergert & sTrRiford fore fivem arde
¥ 190 <=7 &fFATTd g o, ek gRT Stafarforerdr #ht &ifq
T o L hl T ot 78|

BeA: Sardfaear i &fd s w9 AT - o e
e, 2002

RIS TET o Icasi bl HH HET - FAIT TSR
GUATIHSH T T&TT AT - Hifegaed Tielehiet

Corporate Office : Aakash Tower, 8, Pusa Road, New Delhi-110005. Phone : 011-47623456



Mock Test for NEET-2024_Hints & Solutions ‘

141.

142.

143.

144.

Conservation of Biodiversity and Sustainable
utilization of its benefits — Earth Summit, Rio De
Janeiro, 1992

Answer (2)

Hint: Histone protein synthesis takes place in S-
phase of interphase. Longest stage of Meiosis | is
Prophase I.

Sol.: Duplication of DNA — S-phase
Longest phase of cell cycle — Interphase
Longest stage of meiosis | — Prophase |
Terminalisation of chiasmata — Diakinesis
Answer (3)

Hint: Colour blindness is a sex linked recessive
disorder.

Sol.: Colourblind female: X°¢X¢

Normal male: XY

All the females are carrier of this disease i.e., no
female progeny is colourblind.

Answer (3)
Hint: The events of ETS occur only in the
mitochondria.

Sol.: During the transportation of electrons in the
ETS, the protons move to intermembrane space
from mitochondrial matrix.

Answer (2)

Hint: At low light conditions and high CO:2
concentration, neither Cs nor C4 plants show any
change in rate of photosynthesis.

Sol.: More than 0.05% CO2 concentrations can
be damaging over longer periods.

At high light intensity, both Cs and C4 plants show
higher productivity.

141.

142.

143.

144.

StafafarerdT T €Xeur TR $6eh T 1 Jad ST -
gecft fRrat awieH, fan €t st 1992

I (2)

Hehd: R WM #1 degwor,  SiquEEr &
S-TeET § AT 21 STeit-frrs | o wer et
e qataE | 8

&eT: DNA &7 ferur — S-srareer

HITRTRT =I5k T T THefl eI — SHaaen
SEAT-FrTST | shT el el ST — gariaree |
HITSHET ST IUTAITIT —> TTTT(IshH

W (3)
W:WW@%T-WW%W%I

FeA: JUITY Tfgar: Xoxe

T 32 - XY

oft AfeaTd 39 T 6T A § fq s off Afee
Tt aurter 7 2

S (3)

Tehel: ETS ol STE shelel HTgelehif-g a1 H BIdl &
Bel: ETS | Sd2MT o Uiee o SR, SISHT sl Tife
g Iehif~gan sht STaEh & icfEeedt s d 2l 2
SW (2)

Tehd: A TS T FEufd 3T 3=a CO, Tigar W, Tt
Cs UTeY 3T 7 & C, UTed, TehTeT-T23uor sl &t § g
gfterd guria &)

FeT: CO23hT 0.05% ATk Higar oiel G0 doh o foIq,
aafcrehTen BT wehd! 2

I YT el W, Cs 3 Cs4 HT UIGT Ieec
JqTEeHAT ST
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145.

146.

147.

148.

149.

150.

Answer (2)

Hint: Cucurbits have stem tendrils

Sol.: Cactus — spines

Pisum sativum — leaf tendril

Members of Cucurbitaceae — stem tendril
Bryophyllum — leaf buds

Answer (3)

Hint: Females suffering from this condition show
monosomy of sex chromosome.

Sol.: Down's syndrome: Trisomy at chromosome
21

Klinefelter's syndrome : 44 + XXY

Turner’s syndrome : 44 + XO

Edwards syndrome : Trisomy at chromosome 18.
Answer (3)

Hint: Statins are produced by a fungus.

Sol.: Trichoderma polysporum — Cyclosporin A
Streptococcus — Streptokinase

Monascus purpureus — Statins

Clostridium — Butyric acid

Answer (2)

Hint: RNA polymerase Il transcribes tRNA, 5S
rRNA and snRNAs.

Sol.: RNA polymerase Il transcribes hnRNA only.
RNA polymerase | transcribes 28S, 18S and 5.8S
rRNAs.

Answer (2)

Hint: Most of the organelles duplicate in G1 phase
and centrioles duplicate in S-phase.

Sol.: Tubulin protein is synthesized in G2 phase.
Only the organelles like mitochondria,
chloroplasts and Golgi complex duplicate in this
phase.

Answer (3)

Hint: Dormancy is broken by ethylene and auxins
lead to apical dominance.

Sol.: Gibberellin — Helps in seed germination
Auxins — Present in root and shoot apex
Abscissic acid — Shows inhibitory effect

Cytokinin — Overcomes apical dominance

145.

146.

147.

148.

149.

150.

I (2)

ok i H o1 I 2id 2

W:M—)Eﬁ%

TTSaH HTEFH —> U1 Yd
FHUIHT o TR — T IqH

ST BETH — 9T ShicthTd

I (3)

Hohd: 39 fefa @ difeq afeemstt # fofm qore i
THEEAAT 2l |

T 13 g o 21 W B
FATEThe [HSIH : 44 + XXY

TRfEgm : 44 + XO

TeaE Rgm: U 18 T B

I (3)

Tehd': T T IcUTET Uk shalesh g foram STTa 2
TC: ZISFHISH] GIcAIETIE — WIS A
&efehlhd — tlelehlg-s

HHEHE WRTE — T
FeAIgleH — SIS 3T+

ITL(2)

Tehd: RNA TTllT 111 3 §RT tRNA, 5S rRNA 3R
SNRNA T 3TcT@H I 2l

FeT: RNA UTAHST 1| o 510 shelet hnRNA 31 3feia
BrdT 81 RNA UiefiiisT | % g 28S, 18S 3R 5.8S
rRNA 3T TR 8T 2

I (2)

Teha: STHIRT ST T 3T Gy STl & &rem 8
R ARHohal 1 foTo S-Sl & 2rar 2

FT: TS FIEH 1 WA G2 T § Elell 2l 3
YT T ohaol HISEIhI-T, FARIARL 3T Tiesit
qftay & TR T 3o S )

I (3)

Tchd: TR ST S ST &1 St & 31 At &
ST ST yuTfere Bt 2

FoT: STeaRfer — ofier SfepeoT & wamrT ear &

AT — FT 3 SRIE 3 7 It ard &

ufouften et — SFeIUTcHe: TuTel SIidT &

TS IHTEI — T STTTRIAT ohi 3T el &
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151.

152.

153.

154.

155.

[ZOOLOGY]

SECTION-A
Answer (2)
Hint: Connects the cytoplasm of adjoining cells

Sol.: Three types of cell junctions are found in the
epithelium and other tissues.

1. Tight junctions — Help to stop substances from
leaking across a tissue

2. Adhering junctions — Perform cementing to
keep neighbouring cells together

3. Gap junctions — Facilitate the cells to
communicate with each other by connecting
the cytoplasm of adjoining cells for rapid

transfer of ions, small molecules, efc.

Answer (4)
Hint: Inner cell mass differentiates into embryo.

Sol.: In later phase of pregnancy, a hormone
called relaxin is also secreted by the ovary.
hCG, hPL and relaxin are produced in women
only during pregnancy. Inner cell mass
contains certain cells called stem cells which
have the potency to give rise to all the tissues
and organs.

Answer (2)

Hint: Diabetes insipidus

Sol.: ADH facilitates water reabsorption from latter
parts of renal tubule, thereby preventing diuresis.
Presence of proteins in urine is termed as
proteinuria.

Answer (2)

Hint: It has 16 carbons including carboxyl carbon

Sol.: Palmitic acid has 16 carbons including the
carboxyl carbon.

Glutamic acid and aspartic acid are acidic amino
acids.

Answer (2)

Hint: Female Anopheles mosquito is a vector of
this disease

Sol.: Symptoms of amoebiasis include
constipation, abdominal pain and cramps, stool
with excess mucous and blood clots.

151.

152.

153.

154.

155.

we-A

ST (2)

Hehd: Tl hITITERTST o hITITeRTEeT ol STigd! &

BeA: SUHAT qAT T Sl H dl TR sl hITHT

Gferat arft St &

1. g Wi - Haeh & IR UaTet o fEra & Uk |
T3S AT &

2. TGS wiRET- wgret wIfTRTs @l uh a1y e
T ST Ll &

3. SfIe |@ftmt. SRAL, B HAvE onfE F dim
AT % AT Her hIfRThTat o hif¥TeniEed sl
SgH HIRTHAT HI A0E H IR 8 G
T 2

I (4)

TR ST IR TE T & fordifea 2 S 21

g THieree Y 3ifow grawen #, fafdeT ame

T ST | ot Grfad erar 21 TiaeT & SR €

HfgeATs? # hCG, hPL 3R R 3ca= 21 81 3

FRITTRT TE H TorR Y ShITTRTE BTl & ot €A ahITRTEHIY

a1 ST & o @l Skt A AT T I B Y

T BT 2

FH(2)

Tiehe: ST sfafied

¥A: ADH 9% Afdet & sifqw vmm & S &

RTEIRITYOT 2h1 G ST €, Forerdl STsgfee e St e

T 1 S oAt Suferfer st S et s

I (2)

Tehd: T IS e AT 16 HIe ld &

FoT: TIHfees et W Fraifee e dfed 16 e

Eokd

TR TRt 3T TEdTféen STt STt STHfiT ST B

I (2)

Tehd: H1ET U1 eAIsT Aot 36 U ST HaTE 2

Te: STHifrefee o craqon & hew, Iai dier ofit UaH,

TR S 3T Teh o ek ATedT Aol ARAferd 2
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156.

157.

158.

159.

Filariasis is characterised by the inflammation of
lymphatic vessels of the lower limbs.

Appearance of dry, scaly lesions on various parts

of the body such as skin, nails and scalp are the
main symptoms of ringworms.

Answer (2)

Hint : Frogs exhibit sexual dimorphism

Sol.: Male frogs can be distinguished by the
presence of sound producing vocal sacs and also

a copulatory pad on the first digit of the forelimbs
which are absent in female frogs.

In female frogs, ovaries are situated near kidneys
and there is no functional connections with
kidneys.
Answer (2)
Hint: Related
haemopoiesis

to structure involved in

Sol.: Gene therapy is an attempt as a corrective
therapy of a person who was born with a
hereditary disease.

cry gene is isolated from Bacillus thuringiensis.

ADA enzyme is crucial for the immune system to
function. In some children, ADA deficiency can be
cured by bone marrow transplantation.

a-interferon is a biological response modifier
which activates the immune system and helps in
destroying the tumor.

Answer (2)
Hint: One of the major cause is cigarette smoking

Sol.: Asthma is a difficulty in breathing causing
wheezing due to inflammation of bronchi and
bronchioles.

Underproduction of hormones by the adrenal
cortex alters carbohydrate metabolism causing
acute weakness and fatigue leading to a disease
called Addison’s disease.

Muscular dystrophy is the progressive
degeneration of skeletal muscle mostly due to
genetic disorder.

Answer (2)

Hint: Bones of hind limb

Sol.: The vertebral column is differentiated into
cervical (7), thoracic (12), lumbar (5), sacral
(1-fused) and coccygeal (1-fused) regions
starting from the skull.

156.

157.

158.

159.

FETf ef:ael it ARt anfeeRreT st iy @
Tfuereafora g 2

TR o forfir=t 9Tl S8 o, e SR Rillaes ©
T, TTeeh! foetfat ke 2T, 318 o e e &)
W (2)

Toha: Hewh oifiTeh fgudT Jafid i 8

Tel: T Akl &I el g T aTeft WR-EN H
Sufterf ST SFUTE % Teed ok W T HY Heielt Ig
Fr Uyl & Te=MT ST Gkl 8, ST HIET Hehi A
TR B 2

HTET Hewh! §, SR T8 o ue furd B 8 3R %
T IS HATcHeh Hael el 2aT 2l

M (2)

Tiohet: Tt ScdTe 8 STt AT & Taiferd &

F: ST ATt Uk U S feh shl GUTene (<Ifohca o &4
T feT ST ST Toh SRIT @ i1 Ueh S9TTerel T o |ref
TaT BT |

cry S ! dfferd YRISTf~ag § ST foham T 2
ADA TSTTEH SfeRelT i % &l & o forg weeaof 2
% Soal § ADA T FHT oh 37T HSIT ST ST
ot f3haT ST HehaT 21

- SETRH Tk Sforeh SR Taiate & St wfcret &
1 lh AT & 3T 3G i T FHTA H 7a LT 2
FH(2)

TR THHT U T 0T U &

FoT: ST H 8-t 3T gaferratt hY s o T araa
T SRENTEE BT & AT 416 o H HISTS it 2l
SAfITR ITAET ST ETHI 1 Y IcATE FIEEESE
AT T ST T 2 Fored offer smAeii 37 e Bt
2 forae ufew T ames shiurd gt 21

Uofrar geaTeuT AR SR foe o FRo e
ST hehTe UTRTAT BT STThTH STIGTEH g

FH(2)

Tehd: T UTG Sl AT

B HIEH < HUTA hl 3T T TR LA T 4T (7),
FefF(12), % (5), B § (1-8AE) 3R B
(1-GAfSr) &t o faraife ST R
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160.

161.

162.

163.

Atlas is the first vertebra. Atlas articulates with the
occipital condyles.

Ethmoid and sphenoid are cranial bones.

Sternum and ribs are axial bones which
participates in formation of thoracic cage.

Answer (3)
Hint: Primary spermatocyte undergoes meiosis-|
Sol.: Primary spermatocyte

Primary oocyte

Spermatogonia
Oogonia

Diploid cells

Ootid
Spermatozoa Haploid cells

Spermatids

Answer (3)

Hint: Exclude the anti-diuretic hormone.

Sol.: Foetal ejection reflex triggers the release of
oxytocin from maternal pituitary. ACTH is a tropic
hormone secreted from pars distalis.

ADH or vasopressin stimulates reabsorption of
water from distal part of renal tubules.

Answer (3)

Hint: Related to human involvement

Sol.: Adaptive radiation leads to homology.
Evolution for Darwin was gradual while de Vries
believed mutation caused speciation and hence
called it saltation. The process of evolution of
antibiotic resistant bacteria, pesticide resistant
pests, efc. are due to anthropogenic action.
Answer (3)

Hint: Low pH
oxyhaemoglobin

favours dissociation of

Sol.: Oz can bind with haemoglobin in a reversible
manner to form oxyhaemoglobin. Low pOz2, high
pCO2, high H* concentration and high
temperature are favourable conditions for
dissociation of oxygen from oxyhaemoglobin.
This clearly indicates that Oz gets bound to
haemoglobin in the lung surface and gets
dissociated at the tissues. Oxyhaemoglobin
dissociation curve shifts to right on increasing
temperature, pCO2, H* and BPG.

160.

161.

162.

163.

YW ek UZeTd €| UZerd, 3ThuTel SAEehal o a1
GRS T 2

THTEE 3TN THHTES T ohi 3TfEer &

S0ty R yafaat srefla srftemt € < aef fisw &
Frrmfor & sy ¥l &

I (3)

The: TTITHF SERIVERIIRIERT ST THISH-| & o &
BT rorfiren YERTUTRITTERT

TTfieh 37eh e e

IH (3)

Feha: T BT o STl

Fe: o Searor e, A Ry & AferdieifEm o v
T I T B ACTH U Siftsh g & ST ard
ferefom @ afaq grar 2

ADH 3T SIS efeh; FicTehiAT o6 L6 AT § STt
TAERIYOT 3h1 ST T 8

W (3)

Hehd: AT YHET & Heiferd

T ST [oI1ohL0T HHSTIIAT T 10T 2| ST o fIg
TorenTer shitreh 9T STaifes €1 oSt ot 1T 9T fof Scaftard
o SHTUT STTTASEH BT & 3T AT 32 30 Tieey™
el | Firsiforh SfaRreft Sy, shiemren Siret Hie
(S o Torshar <t IfshaT ST hroT AT foRaT Bl
I (3)

Hepa: F pH Ao  foaem & s
BT

BFeA: BHTAISH o HTY ShIvT & & 8 H Oy,
SATF ST a7 Tehelt 21 T pO2, 359 pCOy,
I=9 H* Gigar 3R 3= quEH ATEmefesd &
HAtefier o forem % fore sepe aftfafaat 8 o7
WY &9 Y I AT 2 Foh O, Bwhe it arde § Eiedifer
T &Y ST & I el H AT B STl 2 q9HH,
pCO2, H* 3 BPG wg+ W AR IArelfe faise
5k gt TR fereenfa &t ST 21
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164.

165.

166.

167.

168.

Answer (2)
Hint: Progestasert belongs to the same category

Sol.: IUDs increase phagocytosis of sperms
within the uterus and the copper ions released
supress sperm motility and the fertilising capacity
of sperms.

Lippes loop and Multiload-375 are non-medicated
and Cu releasing IUDs, respectively.

Answer (3)

Hint: A reduction in number of thrombocytes
leads to clotting disorders

Sol.: Platelets, also called thrombocytes, are cell
fragments produced from megakaryocytes. Blood
normally contains 1,500,00 — 3,500,00 platelets
mm-3. Platelet factors and tissue factors interact
in presence of Ca*? to form an enzyme complex
thrombokinase which converts prothrombin into
active thrombin.

Answer (3)

Hint: Metameric segmentations are seen in
Pheretima

Sol.: The canal system in sponges is helpful in
food gathering, respiratory exchange and
removal of wastes.

In metamerism, the body is externally and
internally divided into segments with a serial
repetition of at least some organs.

In ctenophores, body bears 8 external rows of
ciliated comb plates.

Answer (2)
Hint: According to Chargaff rule,
A=T,C=G
Sol.: Out of 500 nucleotide base pairs
i.e., 500 x 2 = 1000 nucleotides
C =40%
So, G =40%
A+T%=100-[G + C]%
=100 - 80 = 20%
A+T=20%
A =T so, A = 10% of total nucleotides

1000x10
100

Answer (4)

Hint: Synaptic vesicles contain neurotransmitters.

A= =100

164.

165.

166.

167.

168.

ITL(2)

Tehd: TIoRerad 3t ot & Helfeerd 8

FeT: 1UDs TR 3k +fiat STERTOTaTT b SaTehTuTfRaT sh
Tt & TR Hfe I TR YT ht Tierefierar 3
ERIOLAT AT TSI & ol M T ad 8

T T 3R AeRIArs-375 SHART: HINfRRfed 3R Cu
Hiereh 1UD &

W (3)

Toha: YTTsTTaTSeH <l T § ! | Thad fIhr 21d §
Bl wicoled, 8 diwsiomgeg ot wver ST R,
IMHIETEeE ¥ ScaTfed HIRTH & TS 2 T |
YT ET Y 1,500,00 - 3,500,00 WHewed mm-3 it
21 T ek 3R Fndeh Ik Ca*2 i Iuftafa § uw
USTEH ShiFcied TFsllenTg-IsT ST o foru 3ia: foram st
ST svnfEsrT oAt | enfise o uftafda sar 2

I (3)

Tehd: forgdt wvem, Rf2wr # @ ar g

FeT: TSI | 16T o eI okl i, ae fafame ofik
IafITST o frsehre H wgE g 2

YeWfeH o, TR STe SfiT 1iafe ST I Sfiag
el # fowiford war @ o e 3 it s
NSREINRIGI

AATERT |, IR 9 qeATt shehd qfgehRtatl sl 8 aTedl
ufeRat gt 8

ITL(2)

Fehd : I 39 % TR,

A=T,C=G

B: 500 (FRATTES &R JHI H

500 x 2 = 1000 JfFeIIeTEEH &

C = 40%

zafelt, G = 40%

A+T%=100-[G + C]%

=100 — 80 = 20%

A+T=20%
A =T R, A= Fd ARRIRESE F 10%
A:1000><10 - 100
100
I (4)

Tieha: foftes gfesret & dierm=mt g 2
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169.

170.

171.

172.

173.

Sol.:

Answer (3)
Hint: Terminal method of contraception.

Sol.: Surgical methods are generally advised as
a terminal method to prevent any more
pregnancies. Surgical intervention blocks gamete
transport and thereby prevent conception.

Answer (4)
Hint: Roundworms

Sol.: Aschelminthes exhibit bilateral symmetry.
Adult echinoderms, cnidarians and ctenophores
exhibit radial symmetry.

Answer (1)

Hint: Present in hemichordates

Sol.: Proboscis glands are reported in
hemichordates. Metanephric kidney,

4-chambered heart and presence of feathers are
features of birds.

Answer (3)

Hint: Class VI of enzymes

Sol.: Restriction endonuclease cut DNA at
specific site (their sugar phosphate backbone).
The resulting DNA fragments will have
complementary overhanging stretches (sticky
ends). Flush end is also called blunt end.
Answer (4)

Hint: Restriction endonuclease was isolated from
itin 1963

Sol.: Plasmid of E.coli is used in production of
humulin.

Thermus aquaticus is a thermophilic bacteria and
Taq polymerase is used in PCR.

194.

170.

171.

172.

173.

S (3)

T T ot sifem faftn

T TSR foIferrt SITer: 3 QT o foru gems S &,
foee 31T TTwiaree T2 =few quT 9 36 TS "EAH %
&9 I AT FTed & [RICATRAT 1 TEiaTS €
TG Ueh foT ST & ST =2 8i &l

I (4)

Tiehel: TeTH Y

T UhateS ford et weRia e ) s
ThIgAIeHY, AgeiEd 3 ded iy ewfafa
a3t i &

I (1)

Toha: THIwISH H Jufterd Bt 2

Tt Y5 i dfeidem et st § denfrn
gaeh, T F&RT ga IR dw it sufkurfa, ufemi &
SR

I (3)

Toha: USITSHT 1 3 VI

Te: iersie TEfrerest DNA i faifire o (s
WW@@W)WW@

qforHt DNA @i § & Seislt o (Rt &)
forerar €1 e R it st fo oft et STaT R

I (4)

TRel: 1963 T Wil TSI eTust oh St ST fohart
T T

T IS o6 TATISHE T ST B[ o Jeare o
[ERIEIGIE]

eyt GTIoE ok AT Sfteu] & o 3 diferest
T IFAT PCR # o ST 2
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174.

175.

176.

177.

Meloidogyne incognita (nematode) infects the
roots of tobacco plants and causes a great
reduction in yield.

Answer (4)

Hint: Used for treatment of cancer

Sol.:

PCR — Detect HIV in suspected
AIDS patients

ELISA — Detecting presence of
antigens or antibodies
synthesized against
pathogen

Radiotherapy = — Used to treat cancer

Radiography =~ — Diagnosis of cancer

Answer (4)

Hint: Diabetes mellitus

Sol.: PCR, ELISA and rDNA technology serves
the purpose of early diagnosis of diseases.
Hepatitis-B and HIV are viral STDs.

Mature insulin has two polypeptide chains.
Answer (2)

Hint: Identify a domestic animal

Sol.: Corvus is a bird and Chelone is a reptile.

Ascidia is a protochordate and Canis is a
mammal.

Answer (2)
Hint: Identify an amino acid
Sol.:
Pigments Carotenoids, Anthocyanins,
etc.
Alkaloids Morphine, Codeine, efc.
Terpenoides | Monoterpenes, Diterpenes
eftc.

Essential oils

Lemon grass oil, efc.

Toxins Abrin, Ricin

Lectins Concanavalin A

Drugs Vinblastin, curcumin, efc.
Polymeric Rubber, gums, cellulose
substances

174.

175.

176.

177.

AAEETIE FPITHET (FAFH) ToTg b fvert 6t it
T Hh{Hd AT & T IGTaR i HTHT S T T 2
ST (4)

Tehd: HEL % IUIR o ToIQ =T fopa Strar @

Tl

PCR —  difery vgg UM H HIV &
AT I &

ELISA ~ U F foeg @eafva
gfaew At gfeft
Uk T qaT AT &

foferor faforcar. - e % ST % o Sk
H AT

e L ICONCET]

ST (4)

Tehel: HYHE Hefleq

el PCR, ELISA 37T rDNA Trenfireh grr oo Y
YRftver Teee Y S ?1 dUerEfE- B R HIV

forsmuss STD 2

aftwer $gfor & 21 dfefiiterse e ard 2

I (2)

RED G ARESIEEAIS I

TE: A T Tall & SR FIcaid T a9 2l
RIS T WIehiSe & 3R $HE Tk Tl 2l
I (2)

Tohd: U STHIAT TR ohl TE=H shifoTy)

Bqel:

Juish FEHTIH, TIEEH ofg
v Hifh, FHIEH TS

CAIBIEST AT, Sgetdig oTfe
HAEEFH AA | e = O A1

CACTES ufs, et

e FHIHAE A

| [ERESISERERCIE IS
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178.

179.

180.

181.

182.

Answer (1)
Hint: Prevents polyspermy

Sol.: The secretions of the acrosome help the
sperm enter into the cytoplasm of the ovum
through the zona pellucida and the plasma
membrane. Sperm attaches with zona pellucida
layer of ovum and induces stabilization of

178.

Mock Test for NEET-2024_Hints & Solutions

SW (1)

Tehd: T TEaH i Ushal &

TT: GhHIHTH o6 1 Yh10] 2l ST U (oSt 3 ST
freett & ATer @ ST o HIfThTEed H Jaw O H
EE A 2l IHRIY , ST h ST U ST o § S
ST & I 37721 THRTOT3AT o JorsT i Tehe! o AT freett

membrane to prevent further entry of sperms. o TeerierToT sh S oL 2

Answer (2) 179. I (2)

Hint: Blood group devoid of antigens A and B Tehd: i A 3T B T%Ffl?ﬁﬂ'ﬁ:c‘?

Sol.: A

Blood | Antigens | Antibodies | Donor’s Th RBCs W | AT & qIdT<hT OHE
Group | onRBCs | inPlasma | Group aqe gfas g gtaeaft

A A anti-B A O A A Wwi-B A O

B B anti-A B, O B B Wi A B,O

AB A B nil AB, A, B, O AB A B IS TET AB, A, B, O
o nil ant-A B | O o FEE | WA B | O

Answer (2) 180. 3 (2)

Hint: May lead to paralysis of skeletal muscles

Sol.: Osteoporosis is characterized by decreased
bone mass and increased chances of fractures.

Myasthenia gravis — Fatigue, weakening and
paralysis of skeletal muscles.

Gout occurs due to accumulation of uric acid
crystals in joints.

Answer (2)

Hint: Movement of ovum in fallopian tube is not a
voluntary action.

Sol.: Smooth muscles (non-striated/visceral
muscles) are not under the voluntary control of
the nervous system and are therefore known as
involuntary muscles.

Answer (2)

Hint: Bone resorption

Sol.: Along with TCT, it plays a significant role in
calcium balance in the body.

PTH acts on bones and stimulates the process of
bone resorption (dissolution/demineralisation).

181.

182.

Thel: THh ST Shehlcl UTRTAT ohT T&ITEITA &1 Hehell &
TN ARGRRAT M Wi 7 ot S safeer ofr
eI HHTEAT § SAereford grar 2)

ATEEIT= Do — oeh, FHESRY 3T Shehtet U= 1
TETETA BT 2l

M3, SIS H Ffeh TR T ok ST B oh 0T BIlT 2
SW(2)

Teha: St AfereRt & 1] it Il T Ufee fra
TR

goT: Torenit ufsmat (Rfaay Siad ufsm) fewt o &
s frEw & el T 2t § o gmfee =%
I Uit hed 2

I (2)

ﬁaﬁr:a{@l‘fﬁ:w

T: TCT o | fHere, I8 TR H hicwem Hqa |
FEEEqUl AT T 2

PTH fberdi @ &R stdr 8 AR sifder geamwor
(Ferere/ferafarsrr) <t wfshan =t it srear 21
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183.

184.

185.

186.

187.

188.

Answer (1)
Hint: Commonly known as sea fan

Sol.: Limulus (arthropod), Pinctada (mollusc) and
Nereis (annelid) are triploblastic coelomates.
Gorgonia is a diploblastic cnidarian.

Answer (3)
Hint: pCO:2 in deoxygenated blood is 45 mmHg.
Sol.:

Respira- |Atmos- Alveoli |Blood (De- Blood Tissues

tory Gas |pheric air oxygenated) |(Oxygenated

02 159 104 40 95 40

CO2 0.3 40 45 40 45
Answer (3)

Hint : Number of digits in forelimbs = number of
limbs in humans

Sol.: The hindlimbs end in five digits and they are
larger and muscular than forelimbs that end in
four digits.

SECTION-B
Answer (2)

Hint: Includes the segment containing a pair of
spermatheca

Sol.: A pair of ovaries lie laterally in 2" to 6"
abdominal segments.

Anal cerci are paired, jointed out growths, which
arise from the 10t tergum.

Mushroom or utricular glands are present in

6t 7t abdominal segments of a male
cockroach.
Answer (4)
Hint: ADH is released during dehydration
condition

Sol.: ANF can cause vasodilation.

Angiotensinogen | —Renn_, Angiotensin |

Erythropoietin is produced by juxtaglomerular
cells of the kidneys.

Answer (4)

Hint: DNA contains deoxyribose sugar.

Sol.: The sugar found in polynucleotides is either
ribose or 2’ deoxyribose. Proteins are polymers of
amino acids. Starch forms helical structure which
can hold Iz in its helices.

183.

184.

185.

186.

187.

188.

FH (1)

Tehd: STTHAT T TS S o &9 F STHT a1 8

T forgere (FTAMIE), faereT (W) iR 404
(wifere) Beife Wt 3 Tt ww i
TrEfE R

W (3)

Hehd: foritediSIta & ® pCO2, 45 mmHg BaT 8l
B

goT  (FTgHSe [FHY (T T EZiEd
T\ @A (@ (el (oA

) @)
0, 159 104 (40 95 40
CO, 0.3 40 45 40 45
3T (3)

Tehel: TS H STITET H 37ohi <hY EEAT = T b we

FoT: JUTE Ui 37T H HHTH 210 & S 3 = 7R

HHTH T aTCl STITET T ol & 92 371 wieet axd &)
w©s-B

ST (2)

Tha: THH T SIS IERITTEaRT ATl TS T &

FoT: Ueh SIIST SS9 36 & &1 8 B8 W o urd f ferg

B &

T T I, @ Ted A §, St 103 9sE &

frererd &

A AT A(LFH AT T HTH % BS AT 38

e ¥ UTg ST &

I (4)

Taha: ADH Fstefiertor it feurfer 3 2 o grm @

FoT: ANF % IR STTReRTToRhIOT 81T 2

R | SRR |l

SISNIIETeT garenl 1 SToReTCIHEeR RITSTRTSTT ST

3T BT 2

FH (4)

Tha: DNA T Sraiiofises Iy il 2

TOl: UTel=Ifereratersed | qrft ST areft sk AT ar

TSI A7 2' ST et et 2 A STHT St

o FEAH BId &l T HefeTd T ST & o 1,

AT L FehT 2
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189.

190.

191.

192.

193.

194.

Answer (2)

Hint: Tetracycline resistance gene has two
restriction sites.

Sol.: ampR gene in pBR322 can be cleaved by
Pvu | and Pst .

The rop codes for the proteins involved in the
replication of the plasmid.

When a rDNA is injected within the coding
sequence of [p-galactosidase, it results into
insertional inactivation.

Answer (1)

Hint: Lined by sarcolemma

Sol.: Each organised skeletal muscle in our body
is made of a number of muscle bundles or fascicles
held together by a common collagenous
connective tissue layer called fascia. Each muscle
bundle contains a number of muscle fibres. Each
muscle fibre is lined by the plasma membrane
called sarcolemma enclosing the sarcoplasm.
Answer (3)

Hint: Class of transferases

Sol.: Catalyses the transfer of a group, G (other
than hydrogen) between a pair of substrate S and
S'. Class | includes oxidoreductases, class Il
includes hydrolases and class IV includes lyases.
Answer (3)

Hint: Founder effect

Sol.: Founder effect is the example of genetic
drift. Sometimes, the change in allelic frequency
is so different in the new sample of population that
they become a different species.

Answer (3)

Hint: An organisation set up by Indian government
Sol.: GEAC - Genetic Engineering Approval
Committee.

European Federation of Biotechnology gave the
definition of biotechnology.

Answer (2)

Hint: Thermus aquaticus

Sol.: Taq polymerase adds nucleotides in 5 — 3’
direction.

PCR is a reaction that is utilized to amplify a gene
or fragment of DNA of interest.

189.

190.

191.

192.

193.

194.
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I (2)

Hehd: g@Eiae gt ST % &1 wfdeue T
BId &

BeA: PBR322 T ampR S &1 Pvu | 31T Pst | AT
forefora femam s aepar 21

rop TATSHE & Wiashiaad § I WeA & o
FETHG T 2

ST Ueh rDNA =l B-TiaeIEISSST o hITST HATHH
Fiet goide fopan ST B, a1 gEeh iomEeEEy Fawh
sk Bt 21

I (1)

Tehd: HThICHT T TG

FeT: BT IR T Tcieh | ehehTet Uil s Uil Sigar
A7 il § o B 8, S Hug AR Tk A
ShicIST1 ST SHdeh Td © ot Wt 8] Teieh Ul siget
¥ g Ueft o B 21 ek YRt A HTehiceTSH BT H
ATel HThTeTHT ATHeh TTSHT [Hoet! ST SEdRd BlaT & |
IH (3)

Tehd: ZEAWHISIST ST it

TT: ToRATIR S 3R S’ o U W o ofia U &8, G
(TgSISH o SAffTh) % TATIAOT T AT FLaT 2| 7 |
T sfeEheifiesss mivet ®, of 11l & BEgieis
it & SR [V & ARSIt STt 2

I (3)

Tehd: TEATI TS

TOT: FEATT ST, ST TRTeh STIaTe oh Toh JaTeXT 2
Fftaft, Twfy & U T § srcfia smafa § ofedd
g1 =T 2raT 2 foh 3 wep a1t e 5 S @

I (3)

Tehd: WIT TCRR ZIT ST T ETTa

TT: GEAC — HATJai e sfrarifeht weqfa afafa)
FUIRT ST SEITTehT € = et Serifirehy et o &
W (2)

'Fﬁu_cr: WQ&EIT@W

F: 3F iferi 5’ — 3 fowm o =yfaemterse e 2l
PCR g 1fufsrar & St Su=m amrehiit DNA &
S a1 @E =l yaftia e o fore i ST 21
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Each cycle of PCR has 3 steps

1. Denaturation : Starting solution is heated to
94°C

2. Annealing : Reaction mixture is cooled in
between 50-60°C

3. Extension : Mixture is heated to 72°C

195. Answer (1)

Hint: One cannot see pure DNA fragments in the
visible light

Sol.: Since DNA fragments are negatively
charged molecules, they can be separated by
forcing them to move towards the anode under an
electric field through a medium/matrix.

196. Answer (1)

Hint: One cardiac cycle represents one heart
beat.

Sol.: Normal haemoglobin in blood = 12 — 16 g/dI.
Normal blood pressure = % mmHg

Duration of a cardiac cycle = 0.8 sec.

0.3sec
Lub—“?Dub
.5sec

197. Answer (3)

Hint: It is not a true segment

Sol.: The first body segment of earthworm called
peristomium, bears mouth and a prostomium, that
covers the mouth partially. Prostomium helps in
formation of burrow.

198. Answer (2)

Hint: The coiled portion of the labyrinth is called
cochlea
Sol.:

199. Answer (3)

Hint: Hardy-Weinberg principle — The gene pool
(total genes and their alleles in a population)
remains constant.

195.

196.

197.

198.

199.
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PCR % Ycde =ish o 3 ST a1 &

1. TfSsraentor: 3mifsrer faet@a =t 94°C ek T fomam
ST

2. QMTIRITE: STTRAT % 8T 3T 50-60°C & =
ESACTIRSICIE

3. JER: firsror Rl 72°C ok T foRaT ST ®

(1)

Tehd: T WohTET H hl5 +ff 75 DNA Te e 3@ weha &

T: 9% DNA T FUERE 31 89 €, 3%

HIEHH/HATATH o T Uk fogd & H TS i AR

AR STHT ST foRaT ST Tl 2

ST (1)

Tehdl: Teh ged =sh U &ed e oh! FRefud ohidT 2

FeT: T | AT Sl = 12 — 16 g/dl.

WW:% mmHg

T B39 5k 3 3TATY = 0.8 ke

0.39BS
(G pa—CE
0.59®S

I (3)

FET: U o YRR o B WS I i e ST
& oot 7 ST ueh TR 2T 2, 511 e ohi i
Y Y Gkl = TR fret S  7eg shiar 2l
FH(2)

Tehe: LY % eI W Y ShifereraT shal ST &
Bqel:

ST (3)
Tohd: BTSI-aeRT RIS - S 9T (Toh His H et S
I 3 3felten) Figa war 2
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200.

Sol.: The frequency of homozygous recessive

= ﬂ =0.09
1000

g=+0.09=0.3

p=1-q9q=0.7

The frequency of heterozygous
=2pq=2x0.7x0.3=0.42

Answer (2)

Hint: Hypothalamus
thermoregulation.

babies (g?)

individuals

is associated with
Sol.: The hypothalamus contains a number of
centres, which control body temperature, urge for

eating and drinking.

a aQ

200.

BT WHYES el Re oS (q?)

= ﬂ =0.09
1000

q=+0.09=0.3

p=1-q=0.7

fersrergmersit 3ot i ST = 2pg = 2 x 0.7 x 0.3
=0.42

W (2)

THehd: TENSATY qIIHT § Hf-d 8l

FeT: TIRUSIHH | g hg BId &, ST IR o arqqH,
WH- i Z=1 Rl R o 2

Q
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